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Correct : 1 Wrong : 0

Assertion (A) : Species is the lowest taxonomic category in the hierarchical arrangement
and shows distinguishing characters from one species from other closely
related species based on several phenotypic characters. However. as we
go higher from species to kingdom the number of common characters

goes on decreasing.

Reason (R) : Allplants come under the highest category called kingdom. plantae. which
has two major classes dicotyledonae and monocotyledonae.

dso (A): 508eaTon EH0S” 78 EAQ ST Hdrwo 0ok IIL vFT O
8O o 8 S0RE K8 dowodo Ao ;8 I8 Sy ofen
5O oo, adS)EB8 278 Jod Trego JSTB FAIK)IyES 38 dHEFD
OFeTe0 SIEr Yolrrow.

560 (R): o)) 3nHew &8 BSradd ol o3 orergds o080, HIST
Bodh Supg SEHDBS BIEY, HEY Deren o).

Which of the following is true?
& 1808 TUST B HBgB0?

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
ol (A) 508050 (R)Toder &g &oasn (A)§ (R) 98808 S8

(A) 1s true. but (R) 1s false
i (A) dgd00, 57 (R) evdeggdon

(A) and (R) are false
i (A) 5085w (R) edegbm

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
okl (A) Sobadn (R)Bods ée‘.’eg‘;’)w‘ 50 (A) 8 (R) 200N DA8ed 5%

Question Number : 2 Question Id : 492863642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Study the following lists

ListI ListII
(a) Prions (1) Saprophytic and parasitic organisms
(b) Viroids (11) Lacks the protein coat. and RNA 1s of low molecular
weight
(c) Phycobiont (111) Infectious agents which possess only proteins but
not nucleic acids
(d) Mycoplasmas (1v) The algal component in a symbiontic association
(v) Organisms that completely lack a cell wall and are
pleomorphic

8o TEQ 28JTTok

e 1 e 11
(a) @odraen (1) IesFs SHdcsn JoSEHeo
(b) Iccowben (i) | FPES ESBET S Sobakn &89S wevgrdoing RNA
() »EDSrods (iii) &g JoEom T¥Ten SHvo PFPEIw SrG

5°Q Sodsdren 59
(d) Sosraryen (Iv) {528 STrardod® 2d Fhe elodirso
(V) o 808l Gord 2T0drdsd fo BHen

The correct answer 1s
0 O 233720

Options :

@ @® (¢) (@
% (m) (@) (1) (v)
(@ (b)) () (@
s WV (@ (u) @

@ ® @ @
- O M @) @
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@ ® () (@
s @) @) @) ()

Question Number : 3 Question Id : 492863643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
Match the following lists :

List] ListII
(a) C.GK. Ramanujam (1) de Historia plantarum
(b) Sutton and Bover (11) palynology
(¢) Theophrastus (111) sexual system of classification
(d) Carolus Von Linnaeus (1v) sexual reproduction in plants

(v) chromosome theory of inheritance

8od T8I BSIEBob

e | e 11
(@) ®.23. orHordozo (1) & >Yocsr Jolos o
(b) ®&S S8c5» w36 (i) Sovrdew TFo
©) BRIFHD (iii) Bons 3685 3553
(d) 8800 o8 O (Iv) 308 o® Bon¥ (Heogsd

(V) odldo3gses” §'3rardine dFrodo

The correct answer 1s

00 oS 2aT"20

Options :

@ @O () (@
p % (1) () (m) (@v)
@ G () (@
>% (1) v (1) (v
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@ (b () (@
- x (1) (v) () ()
@ (b () (@
s @) (V) (1) ()

Question Number : 4 Question Id : 492863644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Statement (S) : All bryophytes are homosporous

Reason (R) : In bryophytes. gametophytic and sporophytic bodies are conspicuously
different and the life cycle 1s called haplo-diplontic.

Aso (S): PSErPEw o) SHVED2BHe w
5820 (R): (@Rrp808" J08rH D228 $0805» dEdHas TFten Rdoybon Sgarglo

59, D8 Ho8okn ByoHR8s 208 WEo §§ otrow

Which of the following is true?
& 808 TS DB HSgHN?

Options :

Both (S) and (R) are true and (R) 1s the correct explanation of (S)
. % (S) So8cd0 (R)Bodr Sdgbn obaiw (S) 8 (R) 960308 e

Both (S) and (R) are true. but (R) is not the correct explanation of (S)
e (S) 508030 (R)Todsr S50, 570 (S) 8§ (R) S050S D80 5780

(S) 1s true. but (R) 1s false

i (S) J&gdw, 570 (R) edéghn

(S) 1s false. but (R) 1s true
P (S) ed&gdm, 50 (R) &g

Question Number : 5 Question Id : 492863645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

Study the following lists :

(a)
(b)
(c)
(d)

So&

(a)
(b)

(d)

The correct answer 1S

ListI
Fucoxanthin
Chlorophyll D
Ginkgo
Amphibians

T 2SEJE8B0s

e |

g8 T 08

585880 D

AoR’

€ 25030070

080 O 2T

Options :

@ (b (o)
y % ()  (v) (1)
@ () (¢
> (iV) (iii) (V)
(@ (b)) (c)
() (v) (i)

@ (®) (o)

g x (V) (1) (V)

(d)

(d)
(1)
(d)
(V)

(d)
(i1)

(11)
(111)
(1v)
(V)

(1)
(11)

(111)

(1v)
(V)

ListII
Liverworts

Strobili
Rhodophyceae

Phaeophyceae
Living fossil

e I
ORIGRISTY
Fopoew
&R
PRV DR

RN IR0

collegedunia

—



Question Number : 6 Question Id : 492863646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Study the following lists :

(a)

(b)
(c)
(d)

So&

(a)
(b)
(c)
(d)

List ]
Rhizome

Corm
Stolon
Cladophyll

TEQ BSJBTWN0
e 1

§7300)

oo

o

&S

The correct answer 1s

D0 LYo BT

Options :

@ @O (o

 w W @) (@w)

(@ O (o)

> % () @) ()

(@ ® (o)

s W @) @

(1)
(11)
(111)
(1v)
(V)

(1)
(i1)
(111)
(1v)
(V)

(d)
(1)

(d)
(1v)

(d)
(111)

ListII

A slender lateral branch and arises from the base of main
axis

Stem 1s modified into a needle like structure

Branches of limited growth that perform photosynthesis
Colocasia

Curcuma longa

rde Il

DS ofo Jnden $0d GBS S FETen
SNORNT Lrroddn Bl SToden

§8mady Dodriifchi SEE HBd JBEw Tpen
SoFa05r

§&o 0 eroT
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@ (® () (@
,x @) (W @) (i)

Question Number : 7 Question Id : 492863647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Indicate the statement which 1s not correct?

& 1808 TS® B TS Trgwg 56 Jrdotod.

Options :
1 ®

Stem tuber of potato. rhizome of Zinziber and corm of Colacasia help m perennation
to tide over unfavourable conditions for growth.

ROMFDODS" Hodsroldo, @wod” §dw) BN FosLalrd” Somrw (Rsre
HORH0S” 535“@0(? Yok o dos &dydaerow

2. ¢
Roots of Taeniophyllum and Avicennia called pneumatophores. help to get oxygen

for respiration
SIArPe0 Ho8080 @OV SR Trddreren vdnd I8 THBS” el

3 %
The haustorial roots of Striga and Cuscuta help to obtain water and minerals from

the host plant
(RO 0B8N S Lr 0 FYOD o K s8Faw o B BN odTrold

Browirds &3BrES a0

4 %
Rhizobium inhabit the root system to fix almospheric nitrogen by forming nodules.

nodular roots in Pisum. Cajanus. Cassia. etc
POD, SarID, Foalr Inded TR IH SgEHS” DE'DAN0 BTH0 IGYHWDER
& e, WED D BN T H800S” Ko HGRIA oK

Question Number : 8 Question Id : 492863648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0 .
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Study the following lists :

ListI
(a) Spadix
(b) Valvate
(¢c) Cassia
(d) Schizocarpic

$od T8 xBSIEL0s
e |

(@) &)

(b) Earosodgo

(c) 3Fdalr

(d) ass"0)§

The correct answer 1s

00 VO BT

Options :

@ ® (o)
e (i) Gv) (i)

(@ ® (o)

o (V) (i) W)

@ ® (o)
.x (1) W) (V)

(@ ® (o)
, = (V) (i) (i)

(d)
(V)

(d)
(1)
(d)
(111)

(d)
(1)

ListII
(1) Acacia
(11) Tridax
(111) Calotropis
(iv) Colocasia
(v) Zygomorphic

dar 11
(1) e@Fdakr
(11) S8

(111) F&Erdo
(1v) Seosdalr
(V) 288 FHScsso
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Question Number : 9 Question Id : 492863649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In plants growing under environmental stress condition. seeds germinate while they are on
the mother plant. An example for such a condition 1s :

I0JT0 wEES” DOR I oS JIgTw woldn SO I 2dhHH. & B

G0 8

&8

627

Options :

Wolfia
- wé'g)ai)’“
Brown alga

EASINY

2.32 (-

<ul

SO0

Rhizophora
5 v ITTT

Eucalyptus

, & SEOFS

Question Number : 10 Question Id : 492863650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Assertion (A) : Herkogamy i1s common in Datura plants.

Reason (R) :  In Herkogamy. anther and stigma are placed at different positions so that
the pollen cannot come into contact with the stigma of the same flower.

Inso (A): T A Jebror o) oS Fdeo
58 (R): 8 KDS* HovK Bren, Serio SKIKH FTTOS” Jodkbo S0l JME

o3 YA Seorodd VESH

Which of the following 1s true?
& 80 TUS* DB D&gHN?
Options :

gcollegeduniaa
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Both (A) and (R) are true and (R) 1s the correct explanation of (A)
. (A) 500050 (R)Bodr Hégibn Hocsn (A)§ (R) 20508 Jdden

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
, x (A)308a5w (R)Bodr S&gi0, 57 (A) § (R) S80S 58 57

(A) 1s true. but (R) 1s false
. x (A)BSgd0, 53 (R) edggso

(A) 1s false. but (R) 1s true

- (A) 38550, 570 (R) Segdo

Question Number : 11 Question Id : 492863651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Assertion (A) : Polyembryony 1s observed in plants like Mango.
Reason (R) : Nucellar cells develop into the embryos.

INBo (A): Sr08 30§ S° IVLOEER KSVoTE

D38 (R): somod:bonzre Scoren 20T D)8 Joderow

Which of the following is true?
& 1808 TAS® A6 DHSgH0?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

- (A) 508050 (R)Bodr d&gdn 0asw (A)§ (R) 385308 8
1

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)

e (A) 080w (R)Todsr S8550, 570 (A) 8 (R) 50508 58 57

(A) 1s true. but (R) 1s false
2 % (A) 385500, 570 (R) 9355w

collegedunia
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(A) 1s false. but (R) 1s true
ol (A) 3850, 570 (R) S&gdw

Question Number : 12 Question Id : 492863652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Match the following lists :

ListI ListII
(a) The mesocarp and endocarp are fused to form (1) Pisum
pulp and the seeds are hard
(b) Stamens are united into one bunch (1) Asparagus
(¢) The main axis continues to grow and flowers are (111) Crotalaria
arranged laterally in acropetal succession on the
branch of peduncle
(d) Stamens are united into two bundles (1v) Tobacco

(v) Capsicum

e | e 11
(a) SodsHeEso, BossoESEo SooEHED () 255
GEESNY bd&&@o&o. QET 0 HEM sodrran
(b) 3doren DocsnER AEHozom AGyEEow (i) &) 7S
() Bordugo v dor DEHHER Hiy (1i1) ("L Toa

DFgIBYE0 N Piryew BFTETPO
G BITHFE oS ©ld Golron

(d) Bdoren $ocindd Tod Howren JGyEoa 0w (1v) 2>
(V) s

The correct answer 1S

00 LoV 21BaI"2D

Options :

collegedunia
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@ (b () (@
Le W () @) (@

@ (b (© (@
> x (i)  (v)  (v) (i)

@ (® (© @
z % (v) () (um) (1)
@ () () (@
4% (@) (@ (v ()

Question Number : 13 Question Id : 492863653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Smilax possesses the following characters.

1)  Sixtepals and six stamens i two whorls. odd tepal of outer whorl 1s anterior i position
and odd tepal of inner whorl 1s posterior in position. Valvate aestivation.

11) Pentacarpellary. ovary inferior. pentalocular with few ovules. stigma bifid and simple.
1i1)  Fruit is usually capsule. endospermous seed
iv) Flower 1s solitary. bisexual.

—EE@JW% & 08 e §9 JHob

1) e 30 en Dok Socires® Joiran. Jendd S0choes R B HoJEo JrogoB0e”
Hotnod. %O J00HoS’ BRDBJGo STrodosS® Hotnod. Eartrcind O PONEINES

11) Hod Yodrdindo, Idworioho, Holdecindos® §) vworren Hotron. &ered
Serfo, dEFo

1) Hoo Fdpom 98, @-ué&dﬁ")d QBT e

v) Qe 2508800, &0doiso

The correct answer 1s

00 VO 23T
Options :
| w Ll iv & i
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. v i &iii
o w &V
, w1 & i

Question Number : 14 Question Id : 492863654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

H,0, 1s converted to water and oxygen by an enzyme which is present in the cellular
organelle.

3

H,0,% Q& S0803n sfzsm H8588 B0 JoBa o Serokos” PHotwnod.

ik

Options :
Glyoxysome

Nes8yRF000

l.ﬁ““’

Peroxysome

- \ ol
5 @ WTE)TR0

Lysosome

. x SOFE

[T

Ribosome
[e N o
4 8 =

Question Number : 15 Question Id : 492863655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

[ ]
gcollegedumas
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Identify the aminoacids containing hydroxy group in their structure
1) Cysteme

11) Threonine

11) Tyrosine

v) Glutamic acid

V) drtodo§ esdoo

The correct answer 1s

00 oI 2I"2W
Options :

oy TE
o i & i

Lo G&IV

4 b 4 H&IV

Question Number : 16 Question Id : 492863656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

gcollegeduniaa
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Assertion (A) : Meiosis increases the genetic variability in the population of organisms
from one generation to the next and such variations are important for the
process of evolution

Reason (R):  Errors in DNA replication 1s the main cause of such a genetic variability
during Meiosis

QNS0 (A): EohEbes IS 25 257’ 20IIFZEN w8 o ok ITE ok
200, & IVPgE J0erHEIrIE T PEFS0
580 (R): DNA $8888°0 S'Frod ohidn JFads’ 200 250530838 (TS

5°8e20

Which of the following 1s true?
& 808 TIS' B DEH0?
Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
o (&) 0008 (R)Bodsr Hdgsw DOako (A)8 (R) S0g0 D

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
. (A) S08a50 (R)Bodr 85w, 570 (A) § (R) 905308 Jh¢es 500

(A) 1s true. but (R) 1s false
= (A) dgd50, 570 (R) eodefgdon

(A) 1s false. but (R) 1s true
, x (A) sd8g50, 5 (R) S50

Question Number : 17 Question Id : 492863657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following
808 TEI 2EJTBos

The correct answer 1s

Q8 30 Lo BT

Options :

(a)

1 ® (ll)

(a)

> o (111)

(b)
(1)

(b)
(1)

(c)
(iii)

(c)
(11)

(d)
(1v)

(d)
(1v)

Sclereid

SR

Tracheid

G880

Fibre
o0

Vessel

TSoTFo

Colenchyma

"fage.ng‘ea o0

collegedunia
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@ @b (© (@
2% (i) (@) () (ii)
@ @® () (@
Lx W G)  (@Gv) (i)

Question Number : 18 Question Id : 492863658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
Arrange the following from perifery to the centre of the stem in dicotyledonous plants

1)  Pericycle
11) Endodermis
111) Protoxylem
Iv) Metaxylem
v)  Phloem

Lo

8¢ DaIng) © 5oE0S” GoB & 18od TEQ vod Hod BoE s vidod
D) So3Ese

i) eodyso

1) D THPH

V) @083a80)

V) P38 Eodreo0

Options :

> % 1,11, V,1v, 11l
3 ¢ 1,1 V.1V, 111

iiiii

Question Number : 19 Question Id : 492863659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

Correct: 1 Wrong : 0



Roots of the following hydrophytes are fixed to substratum. but their long petiolated leaves
keep them floating on water surface

1)  Salvinia

i1) Victoria regia
11) Utricularia
iv) Nvmphaea

Erderdl @o DR HoBd IR FEIS Soeren $OA I8 GHdE00D BOYoBE JHErew
fo 8 BogH e & 808 T8S* J?

1) SR

1) D 0csr Szodr
1) odoEdsogBoasT
V) Jdoyosr

The correct combination 1s
A8 JB/E Do¥DoY

Options :

1 ® l & ll

5 % 1n&

- u M&1

4 v N&1IV

Question Number : 20 Question Id : 492863660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

The amount of CO, and H,O absorbed to produce 180 g of glucose are

180 (riwe Kr8'E w$88, Fuosseds CO, Hocsn H,0
Options :

193 and 264 grams respectively
w193 So0odn 264 rdwes S8

collegedunia
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108 and 264 grams respectively
, w 108 0050 264 radwes S0

264 and 108 grams respectively

. » 264 508050 108 rsmes S&m

162 and 264 grams respectively
4 % 102300050 264 adwes 83T

Question Number : 21 Question Id : 492863661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following requires energy?

8rS HEYH) T8S* BIE ¥§ ©5550?

Options :
Passive transport

o O o’ »
| % OJEJ&,QJJ" Qe Ed”

Active transport

5 ¢ OBEr STer

Facilitated diffusion

. % DOFSE BB

Diffusion

4 % DR0E

Question Number : 22 Question Id : 492863662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following :
List-I

(a) Manganese
(b) Magnesmum

(c) Zinc

(d) Nickel

8od TE 2SHEB0b

ardar-1

(@) SoroKAD

(b) Sohyacsoo

(c) =of
(d I35

The correct answer 1s

00 oD 2T

(a)
. w (i)
(a)

> R (IV)

(a)
o8 1)

(a)

s v (D

(b)
(1v)

(b)
(1)
(b)
(11)

(b)
(111)

(c)
(11)

()
(V)

(c)
(V)

(¢)
(1)

(d)
(1)

(d)
(iii)
(d)
(1v)

(d)
(iv)

(1)
(i1)
(111)
(1v)
(V)

(1)
(i1)
(iii)
(iv)
(V)

List-II
It activates carboxylases

Splits water to liberate oxygen
Involved in the synthesis of DNA and RNA

Activator for urease enzyme
Helps in stabilizing the protein structure

de-11

s §)B8osh B2

Q8 ITES 200 wiEs Jdde Basnd
DNA., RNA $03060¢5° Jre5Ts080

SBBE JoBdwdo wBaDE

FOS ITErE)E REERE ST RDHES08
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Question Number : 23 Question Id : 492863663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Identify the following enzymes to which classes they belong to :

i G Arginmosuccinase
L Arginosuccinic acid > Arginine + Fumaric acid

II. Glutamicacid+NH;+ATP

Glutamine Synthetase s Glutamine + ADP + Pi

& (808 Q0FHoen o SEKEE BodIS KHYosod

g " s VEIE p
I  ef308)A8 edo _ : > BOAS + Y b8 o

4"

L K208 e +NH;+ ATP

DTS 2oBBD :
< — e +ADP+Pi

The correct classes respectively are
5085 S8R0 583

Options :
Oxidoreductase and ligase

| S8FOSEE Sodon TAS

Lyase and ligase
| o OCHE Hodcke SAE

&

Lyase and transferase

. & OOE JBBw ErRHBE
Hydrolase and ligase

TEBE Hodasn TAE

n e

Question Number : 24 Question Id : 492863664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Correct: 1 Wrong : 0



Find out the location of the following molecules in different components of chloroplast

List -1

(a) NADPreductase

(b) Protons produced by
splitting of water

(¢) F,component of the ATPase

(d) F,component of the ATPase

List-11

(1) Embeded in the membrane of Thylakoid

(1) Lumen of the Thylakoids

(111) Outer surface of the Thylakoid
membrane

(1v) Stroma side of the membrane

T080enYo vdLsed & §od vmPe FSdvod Hfodod

ordar-1

(a) NADPo&ES

(b) 08 D:Dt)é_lu e 8o &g
(c) ATPSE Sws), Foododobso
(d) ATPSE Sws), F,edodobso

The correct answer 1s
08 VORI 2Tz

Options :

@ () (o)
e ) @) @

@ b)) (o)
o x (i) (i) ()
(@ (b)) (c)
% (@) (1) (i)

(@ (b)) (c)
+sx @ @) ()

(d)
(iii)

(d)
(1v)
(d)
(11)

(d)
(111)

Har-1I
(1) Fosond PES° @H0S8
(1) Fosrond LFTHos®
(111) Fosowd P8 GH0SwOS”
(iv) 385 5008 3Y &f) ES°

Question Number : 25 Question Id : 492863665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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In photorespiration RuBisCo binds with O, to form
1)  Phosphoglycerate

11) Phosphoglycolate

11) Glyceraldehyde - 3- Phosphate

iv)  Phosphoenol pyruvate

508 T(0800e” RuBisCo es8)288° od BQ) 8608308
1) &@3{{33365

i) FANAETE

i) A2ogé - 3- S

V) FFYETSE DEFIE

The correct combination 1s:
A8 $BS oD

Options :

v 1&1

> % 1n& 1

3 ® m & 1v

4 % l&lV

Question Number : 26 Question Id : 492863666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

In Glycolysis. the sequence of reactions occur in the following order

A5 0RS” 20A Hdge Bdoo
d_

Options :

BPGA -5 3-PGA'—» 2-PGA '—»5 PGAL —» PEP '—» Pymvate
- BPGA'—» 3-PGA'—»5 2-PGA '—»5 PGAL -5 PEP ' 2838
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3-PGA'—- 2-PGA - BPGA '—- PGAL —- PEP — Pymuvate
3-PGA' 5 2-PGA'»5 BPGA 5 PGAL -5 PEP —» 2&3I&

2-PGA —
2-PGA —

PGA — PGAL BPGA'— PEP '— Pymvate
PGA' s PGAL -5 BPGA'—5 PEP ' 2&r3é

[

PGAL —» BPGA — 3-PGA 2-PGA'—s PEP ‘- Pymuvate
, o PGAL' s BPGA'—s 3-PGA - 2PGA'> PEP - 2836

l‘

Question Number : 27 Question Id : 492863667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Glycerol. the breakdown product of fat enters the respiratory pathway after being
converted to

G506 8gen IYFHo Do IGAES G5Esn THEcH Srfod’ Arhod® B

Options :

Acetyl - CoA

| R8BS -CoA

Glyceraldehyde - 3 - Phosphate

2, -y - N S
5 QNT% - & -3 o mgés

Pyruvic acid

RETD8 es00

PEP
, » PEP

Question Number : 28 Question Id : 492863668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Assertion (A) : Measurement and comparison of the total plant growth per unit time is
not absolute growth rate.

Reason (R) The growth of given system per unit time as percentage of initial size 1s
called the relative growth rate

QNS0 (A): I S' o P50 JNgo DOMELH Jonohodd Fode,

820 (R):

FOSen JoFg Db Tl 5

o

wf SgARS’ wf PIreseod’ VDG |Fbod J0SrTerR) F0E
OMEL solrdd

C .

Which of the following is true?
& 180b TAS* B S&gH0?

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

- (A) 508050 (R)Todsr Sdgdw 0an (A)8 (R) S80S D58

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
5 % (A) Sobasnw (R)3Bods ée‘:’agm, s°0 (A) 8 (R) 203300 DA8ed 57

(A) 1s true, but (R) 1s false

il (A) 3gS0, 570 (R) edebgdon

(A) 1s false. but (R) 1s true

o (A) ©38g50, 570 (R) Se&fgdan

Question Number : 29 Question Id : 492863669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0
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Match the following

List-1 List-1I
(a) Spirillum (1) comma shaped
(b) Vibrio (11) helical
(¢) Pleomorphic (111) spherical
(d) Cocci (1v) elongated rods

(v) keep on changing their shape

Bod 8 2EHESob

e -1 e - 11
(@) oo (1) s3> 5780
(b)) Q&= (11) J0OE es5°80
(€) =2TVEFDHES (111) Aesdo
(d) 5§73 (Iv) >AHS) Somren

(V) es°do SoedyBoodar HoBD

The correct answer 1S

00 Lo 23a3°20

Options :

@ ® (@ @
L ) @ () (n)

@ ® @© @
e Q) ® G (Gid)

@ @® (© (@
% (1) (@v) (@) (1)
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@ @® (© @
() @ v) @)

Question Number : 30 Question Id : 492863670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Arrange the following steps in the order of their occurance in the Iytic cycle of a phage.
1)  Maturation phase

11) Penetration phase

111) Aftachment

iv) Release phase

v)  Biosynthesis

>ESEE S0 =0R & §0b S SHIS' wHE0d

T
) S%sd
i)  @3¥6Y

i) ot BT
V) Dkse &F

A, 1A
V) 2335032

The correct SCquence 1S

A8 OGS SKJEH00

Options :
[ w ULLIV. V.11

> % L1 1V, V. 11
5w 1,111V, 1V

-----

4 o HLIL V. 1,1V

Question Number : 31 Question Id : 492863671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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The characteristic features of a plant with “Tt” are

1)  Itisa heterozygote resulted from a dihybrid cross

11) Itrepresents genotype

1i1) The hybnds contain alleles which express contrasting traits
iv) The two alleles are derived from the same parent

20 TtEOAS oo o B8gE ofeTen

1) 850088 Dode® 63 dhdo aduryzo

1) 286 adg ) Benyshod

111) Doglerod” H&) dwidforyen DI vfrro BuoYHod
V) JBo odwﬁ&_&)évgm O8 255 Hod Z)dgd%@'“m

The correct combination 1s
A& DOGS E¥DoD)

Options :

i &
L w il &IV

Question Number : 32 Question Id : 492863672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: (

In the dihybrid cross. the phenotypes are: round. yellow : wrinkled. yellow : round. green
and wrinkled, green seeds. What 1s the probability of wrinkled yellow seeds m the above
Cross?

E0008E So88e0eS” KFgdoaren Moo, DY S dden, D0 : Kooo, BB Sodadn
Sndden H¢ sBIF) T, DI BN Jo8dod” Jndden, HIY Soid T
DogrSgd dod?

Options :
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Question Number : 33 Question Id : 492863673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

What 1s the corresponding sequence of mRNA when a polynucleotide template DNA strand
is 3'-TAC GGT AAG CGG ATC-5"?

DNA 39 Sr88r86 Soorddedos’ gdrdordo 3'-TAC GGT AAG CGG ATC-5'
oY BAB S02205308 MRNA ESrSordo 28?

Options :

, ¢ 3'-AUG CCA UUC GCC UAG-3'
. 3-AUG CCA UUE GCC UAG-5'
s ® 5“UAC GGU AAG CGG AUC-3’

. » 3 -UAC GGU AAG CGG AUC-5'

Question Number : 34 Question Id : 492863674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following codes for methionine and also acts as an initiator codon?

& BIHS TBS' A8 PEoFEFTIT IVVIT DHABrIedn pdo §8& BoH?
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; » UAA

> R UUU
- v AUG

4 ® UGA

Question Number : 35 Question Id : 492863675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

The Lac operon contains three structural genes ‘=", ‘v’ and ‘a’
The structural genes code for
1)  The ‘=" gene codes for beta - galactosidase enzyme.

11) ‘a’ gene does not code for transacetylase enzyme.
1i1) The ‘y’ gene codes for enzyme permease.

v) ‘v’ gene does not code for the enzyme permease.
V)  ‘a’ gene codes a transacetylase enzyme.

o8 & DTR 3 07pord)E 2ogHBS 27, Ty’ HBodw ‘@’ EYIhTow. & AT 8 g e
DO8BO DB

1) 27 adgd) P-mrofeldE JoBHE dosdo

1) ‘4’ 2808 ErQeRBBE JoBE S0880 57D

i) °y’ RN 5&@){3)5 2O 0E0 Hosd0

V) 9 adgd 50 HE JoBSHE Sodo &

V) @ 2805 ErQendtE JoBZans dosdo

The correct combination 1s

D8 HOGH B¥oD)

Options :
| w ILIVV
sow L, By
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s o 1.l &V

Question Number : 36 Question Id : 492863676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Single stranded strings of nucleotides that extend from the end of a fragment of double-

stranded DNA are called

Bodo e DNA 20&ae Q580 $H08 PEA0IDES WSS & &) c‘ﬁo‘“r%cﬂrgﬁuéo

QB0 0T E?
Options :
Palindromic sequences

il FOOIE"WE IBod B0

Staggered cuts
THG DES

> &
Cloning sites

. x S0h LA

Cohesive ends

4 00020 Feen

Question Number : 37 Question Id : 492863677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Assertion (A) : In gel electrophoresis. DNA molecules can be separated by forcing them
to move towards the anode under an electric field through a matrix.

Reason (R) : Thisisbecause DNA fragments are positively charged.

AHnSH0 (A): BS .D&J@iﬁd?bfoeﬁ* DNA o009 28056 Jgo S0l 2858 weododormr
IR ISP AT@E VoT 5RoL0d08.

80 (R): 28 DNA poderen 5888 sodbo Sod.

Which of the following is true?
& 8od TS B HEgHN?

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
- (A) 508050 (R)Bodr &g Hddsw (A)§ (R) 50508 e

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
_— (A) o800 (R)Bodor Sdgdw, 570 (A) § (R) 90508 Jibdee 57

(A) 1s true. but (R) 1s false

i (A) g0, 570 (R) e0d&g5mw

(A) 1s false. but (R) 1s true

e (A) @38g50, 570 (R) Se&gdm

Question Number : 38 Question Id : 492863678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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In addition to the production of high yielding and disease resistant varieties. genetic
modification has:

1)  helped to reduce post harvest losses

1) decreased the nutritional value of food

1) reduced reliance on chemical pesticides

iv) decreased the efficiency of mineral usage by plants

v)  produced crops that are resilient to environmental stresses

28ogd0SgT e BB JIFGHBAE Tgh ATEE ol GIPTBNLTRETE & §od
TES* BIE &G yho?

1) Hobs’s oo Spo SHdos

1) 58 FIE devde SHéeos

111) SoHAE V¥ T&so Srodoto

V) 3080 Pz 0dre TE FHgE SHlok

V) Serdde w888 SnFS JwnHo 888

The correct combination is
D8 OGS Ho¥doH

Options :

x (0. (i), (i) & (iv)
5> » (1), (1), (1v) & (V)
5 = (1), (1v) & (V)

4 v (0. (i) & (v)

Question Number : 39 Question Id : 492863679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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With advancements 1n genetics. molecular biology and tissue culture the plant breeders are
trying to incorporate the attributes into crop plants.

Indicate the correct attributes from the following.
1) 1ncreased tolerance to environmental stresses
11) resistance to edaphic factors

111) resistance to pathogens

iv) increased tolerance to msect pests

RWGT Y, VBIT Y, Srw Y00 EHES HHE PaIdEgen Hod I o D3
oS00 BATred Doy T

& 808 TS D JBVS ofeTren

1) TS0 w88 SRFS fo 5D Fogsd

1) 50)85 550 od RS EES

111) T 5w o (D85 GES

V) S&¥ Ddeo $08 SRES Fggdn oW

Options :

l_,l. me& v

o w 1Lii &iv
. w i i & i

Question Number : 40 Question Id : 492863680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The bacterrum that 1s commonly found mn the anaerobic sludge during sewage treatment 1s
called

S008K0 IES %JE‘JQ’S* T8 08 a’:wgo@* 8o JHod wé&oﬁs&’naw

Options :

Methanobacterium

- DB S er 8o
" S
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Staphylococcus

P S ED

23& £ .

Acetobacter aceti

[ P o

£ " ‘A ., o - N [ -
@pc\?:jﬂwﬁb Ve

=2 &R &)

Clostridium butylicum

- =

r“; 2 - i N % £ . a
FIW@o0 2w, &O&0

Zoology

Section Id : 49286318
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 40
Number of Questions to be attempted: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1

Sub-Section Id: 49286318

Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 492863681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Identify the levels and hierarchy from the following i the classification of animal Kingdom.

a) Family
b) Class
¢) Phylum
d) Order
e) Genus
f)  Species

2080 S08ES” H80d TES" VG BodRe JSJEIr) HBoWBL

a) Sodwodw

b) Deradw

c) IS

d ESodn

€) Krd

f) o8&
Options :

| % B> -3ad—sf—e

> 8 d—>c—»b—sa->foe

Question Number : 42 Question Id : 492863682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following method does not represent the in-situ conservation of biodiversity

Bod TES* A8 JTaPd S0l Jo0doNIE 57

Options :
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Sanctuaries

@-2}5053‘"623”5&)3
g 4

Biosphere reserves

. x E50'¢ 0688 Togen

Gene banking

- 23:635 wsoéom

Sacred grooves

, x P58 STes

Question Number : 43 Question Id : 492863683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Match the following

List-1 List-1I
(a) Chordata (1) Acoelomate
(b) Nematoda (11) Schizocoelomate
(c) Mollusca (111) Enterocoelomate
(d) Platyhelminthes (tv) Pseudo coelomate

8o T8 2EHETos

e -1 e - 11
(@) sQr (1) 208858 Goradn
(b) Jd%& (1) D8 08 BoSTEdw
(€) Hooar, (111) esoE 68 HFT 850
(d) &8 (1Iv) ogrg #0608 Lorddw

The correct answer 1s

00 O 1IN

Options :

gcollegeduniaa

—



(a) (b)
, x @) ()
(a) (b)
> o (11) (1)
(@ (b)
L, (W) (i)

(@ (b)

L w @) @)

(¢)
(11)

(c)
(11)
(c)
(1)

(¢)

(111)

(d)
(1v)
(d)
(1)
(d)
(1)

(d)
(1)

Question Number : 44 Question Id : 492863684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following
List-1
(a) Kidney shaped nucleus

(b) Large spherical nucleus
(¢) Bilobed nucleus

(d) Mululobed nucleus

808 TE 28HSS0b
e -1

(a) Sorguod es57Edw

(b) &m Sodosn oo

(€) Bodk wodien EOAS

(d) 2805 wodBew BOAS

The correct answer 1S

D0 ONN 23T

Options :

@ (® () (@
o () @ @)

@ M () (@
s () (W (1) (i)
@ (@® () (@
e ) (i) @) (i)

@ ® (@ @
4 % (1) (v) (i) (1)

(1)
(1)
(iii)
(iv)
(V)

(1)
(11)
(111)
(iv)
(V)

List-1I

Eosmophil
Momnocytes
Neutrophil

Platelets
Lymphocyte

e -1
W O)

SrIR8)
Srgad)
I8 SO8ew
Qo i
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Question Number : 45 Question Id : 492863685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Trilobite larva 1s present in the development of

Options :

Scolopendra
- J9S ROT

Limulus

o > e
il @mgua}

Palamnaeus

e 5910309
3 ® <

Palaemon

, & TOSrS

Question Number : 46 Question Id : 492863686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Statement (S) : Symmetry of an organism is determined based on the symmetry of the
early developmental stages and not that of the adults.

Reason (R) :  Bilaterally symmetrical animals are more efficient in seeking food. locating
mates and avoiding predators.

g8 (S): 28 2D FPJ0 T BoE), (FEDE ©HIG S¥o 0" ITOJW. ©oBF
FEEID 2560.
580 (R): Sord) RS 2o Hoo sHY JDFYIS®, JorSLI IHEYIE0S",

$EE 2o 0d SUYODFIL0S” BN JFFdodomr Golrrow

Which of the following is true?
& 808 TUS' A8 S&gH0?
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Options :
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

i (S) $080d0 (R)Todor S&gdn Sodadn (S) 8§ (R) 905808 Jiden

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
- (S) S0d8co (R)Bodkor éégéao. 570 (S)§ (R) OGN DS 5

(S) 1s true. but (R) 1s false
. % (S) d&g0, 570 (R) ed8gdw

(S) 1s false. but (R) 1s true

, « (8) o8g50, £ (R) 38532

Question Number : 47 Question Id : 492863687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Which one the following characteristic features of Frog is similar to Tiger

& 1808 ofros® o 53y ofdn PO DE), ofdnd PO ok
Options :

Cutaneous and bucco-pharyngeal respiration

- W$hod Soboin esdg-fd FTHOED

Three-chambered heart
3 Koo “@acﬁ o300

> R

Dicondylic skull
i asrogdos Y
Poikilothermic animals

JS08E 2odhHen
4 %

Single Line Question Option : No Option Orientation : Vertical .
collegedunia:
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el



Correct : 1 Wrong : 0

‘Sternum’ also known as ‘breast bone’ first appeared in which of the following animals

‘GO 3§ AS0E™ Srw DO olrdh. 28 BEHom D EHost GRS
Options :

Pisces
| % D

Amplibians

G 0NV T O
2.

Reptiles
SOJyFen

33&

Question Number : 49 Question Id : 492863689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Which of the following has ATP-ase activity in flagella

& 1808 aS T8S* T’ ATP-God 8y 8OASE

Options :

Tubulin
mga;oé’)?ﬁ
1. 4

Kinetosome

BTN
2.

Dynein arms

A TV
" S
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Actin

E“.gﬁ
N

Question Number : 50 Question Id : 492863690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
Choose the correct statements with reference to flagella

a) Do not unite to form ciri
b) Found all over the body

¢) Perform undular movements
d)  Perform pendular movements

¥4

ETrOR Qo0HOoNN VOGHN Jrgpgom HEoTEW0
a) ES3dgren OV El:@mr? 36&&5&5}

b) 308 &Ibgododir dododd

C) I SJoll JOTQ) RWEGF0w

d =20 J'of JoTQ) HEGT;ow

Options :

, » a&d

2M,a&c

2 % D&C

-

4% C&d

Question Number : 51 Question Id : 492863691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Match the following

List-1 List-1I
(a) Nocturanal periodicity (1) Entamoeba histolytica
(b) Extra mtestinal migration (1) Plasmodium vivax
(¢) Schuffner’s dots (111) Wuchereria bancrofti
(d) Tetra nucleate cyst (1v) Ascaris lumbricoides

(v) Taemia solum

§0d TEJ 2EHEB0d

e -1 e -1
(@) dTro wSgSo (i) Qobaer TYPBLS
(b) =Sgolg Sod (1) IFBado 3o
(€) [ISG) Do en (111) &&300r eroE™y
(d) W&y ol 8o (V) 3080005 ER

(V) 05> Fdoio

The correct answer 1s

08 LoD 272D

Options :

@ @® () @
Cw (i) () @) @)

@ ® (@© @
oo x (V) (i) (1) (i)
@ @® (© @
_ o ) @) @) @)

@ o () (@
o @) (v @) @)
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Question Number : 52 Question Id : 492863692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Match the following

List-1
(a) Ectoparasite
(b) Hyperparasite
(¢c) Coelozoic parasite
(d) Histozoic parasite

80d T8 BSJEL0d
e -1

(@) erdrg SoHED

(b) 283°KED

(€) &G JTHED

(d) Sozro JTHED

The correct answer 1s

00 OV 235320

Options :

@ () (o)
y & (1) @v) W)

@ (b (o)
e M @) ()

@ (b (o)
g % (1) (v) (1)

(d)

(d)
(i1)

(d)
(1)

List-1I
Ascaris
Entamoeba
Leishmania
Nosema
Head lice
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@ () (¢

(d)
(111)

Question Number : 53 Question Id : 492863693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1
(a) Morphine

(b) Hallucinogenic
(¢) Cannabinoids
(d) Cocame

Bobd T8I 2S8JH8WBosk
e -1

(a) mau)s

(b) SFeOIBIS

(€) EodIT0N&)

(@ &35

The correct answer 1s

00 O 227720

Options :

(@ (b)) (0
 w (O () (m)
(@ (b (0
> o () (1) )

@ ® (©
e @ (i)

(d)
(1v)
(d)
(1)

(d)
(11)

(1)

(11)
(111)
(1v)

(1)

(i1)
(iii)
(iv)

List-1I

Atropa belladonna
Erythroxylum
Papaver somniferum
Cannabis sativa

e - 11
oS> B
Q0 &R0
DPSE FAywdo

Eoo 5931
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Question Number : 54 Question Id : 492863694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The following schematic diagram represents the labium in the mouth parts of cockroach.
IdentifyA.B.Cand D

& Bob SLHdw F"Qos S rrosy BodS ol Srdothhdn. & SLIVSR
A, B. C 58050 D oo hothdwn

Options :

A-Submentum. B-Glossa. C-Labial palp. D-Palpiger

- ANSodraw. B-i'j'_“o'} C-e088 oo, D-ﬁ’@gaé_

A-Labrum. B-Palpiger. C-Glossa, D-Labial palp

5 A-L.30. B-Frdy=d, C7dr, D-o88 dyomoiio

A-Palpiger. B-Glossa. C-Mentum. D-Labial palp

, A-royb. B-Ta. CRoobon. D-wd8 Syonoiio
<

A-Mentum. B-Palpiger. C-Glossa. D-Labial palp

Ao, B-dy:b. C-ar, Dw&d Syonoiio
4 v = 2

Question Number : 55 Question Id : 492863695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Identify the sequence of circulation of blood in Periplaneta americana

a) Headsinus
b) Heart

¢) Pernvisceral haemocoel and sternal haemocoel
d) Pericardial haemocoel

e) Aorta

DOFIET @DOFT BEID

a) dofLlo
b) &Ko

C) RorgodTrol SEHSEN0 0N &l o8 JERSINN
d = JEOETHGED BB

e) DFFED
Options :

{ ®« Co>bo>d—oe—a

5 a DD d-IC—8

v a—>C—>d—>b—oe

580 IFHOSTD HOSS SEDEITY) KBoHBW

Question Number : 56 Question Id : 492863696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Statement (S) : The corpora adiposa cells perform ‘storage excretion’ in Periplaneta
americana

Reason (R):  The fat body contains urate cells which absorb and store uric acid and it 1s
the major excretory organ

Jgpg (S): DOFIET BF05T S 58T AP Fereod Jog ISYS
QELT 0.

80 (R): §J BFfo choth chrdd Swrenod ©d curds sird) Fldn 200
QenIWFT00 0Bk DVYHS® Sopg wSohIs0mT GG

Which of the following 1s true?
& 1808 TAS° B DgH0?

Options :

Both (S) and (R) are true and (R) is the correct explanation of (S)
. g (S) S08csw (R)Bodksr ééga‘fm 508030 (S) 8 (R) 03N DATe

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
. % (S) So8cin (R)Bodor d8gd0, 570 (S) 8 (R) $0508 D58 5

(S) 1s true, but (R) 1s false
A (8) d8gdw, 57 (R) eod&ghn

(S) 1s false. but (R) 1s true
. (S) eddgin, 50 (R) d&gb0

Question Number : 57 Question Id : 492863697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Abingdon tortoise i Galapagos 1slands became extinct within a decade after goats were
introduced. It 1s an example of

moPER B1Tred” JDOAES 6B $T500S’ VoddoAFILE TUnpdn & KFrod’
Do PIFuint. 20 B8 GTrdadn

Options :

collegedunia

—



Competition among unrelated species

- DPS) o gy PESS0

Competitive exclusion
. o FEEE0 8E000Y

Competitive release

-_ Qﬁééés &S

Coexistence better than exclusion
" IO Oa)) 08 J5E5550 5)35@_1

Question Number : 58 Question Id : 492863698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘Gemmules’ are related to

"Bhorgd)” B8 Ho2080DIE

Options :
‘Endosmotic bodies’ produced in some fishes to withstand the salt water in sea

| x T8 8BS ol BTra) SFHLE IHES ©o88 ETPIdn o T

o %
Aglomerular Kidneys in euryhaline animals that help i adjusting the changing salinities
in the sea

G0 8R Yo ool JIwEeS' Srdhds) vl mEdod B0 CE8iT T
R JorEuolen

3
Asexual reproductive bodies produced by freshwater sponges to tide over the

unfavorable conditions of summer
QoTE oS (H8Ero HHodge Hod G FHEn HoANB SyozEer IGYBEKI
@@oﬁgﬁéﬁ QT ET° 0
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‘Gelatinous cocoons’ that protect during winter in some terrestrial animals
Srd 2Hos’ tEseos’ i W Bhb STE Fren

4.”’

Question Number : 59 Question Id : 492863699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Van't Hoff s rule states that

TR TP dr@sn BT Sord oo

BN

Options :
1 ®

With the increase of every 10°C temperature the rate of metabolic activities become
half

8 10°C &S oS E580srdin M8 S

2 %
With the decrease of every 10°C temperature the rate of metabolic activities doubles

©8 10°C &qis 808 £58asrdin BEodr

3 ¢
With the increase of every 10°C temperature the rate of metabolic activities doubles

8 10°C &TES 2ONE 25 8TEL0 BLoDHK

4 8

With the increase or decrease of temperature there 1s no change in metabolic activities
SIS DOAT BT AT LSEAIBLND S0l Sorddy ok

Question Number : 60 Question Id : 492863700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Following statement holds true for “Cori cycle™

50 J00oird8 Do208008 HOFTS Trgpgd Hogouhdw

Options :

gcollegeduniaa
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Glucose to lactate in Liver and Lactate to Glucose 1in muscle

5Bo0S® Kr&ESod @35& 0800 Boddoes® @E&T 0 HrFE S8y

1 % £

Glucose to lactate in muscle and Lactate to glucose in Liver

o S0800S* (78S 508 ES 0050 TBS' S Kob KpEE Srty

Glucose to lactate in the stomach and lactate to glucose in the intestine
2xdohos” Hr8E S0od o3l Hboin wHS® B8 Sod KrFE Sy

3%

Glycogen to glucose n the Liver and glucose to glycogen in the muscle
5°80008" AR Dod HrsE 8ol Foddod® Kr8'E Sod BFas I

4 ®

Question Number : 61 Question Id : 492863701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Total Lung Capacity (TLC) can be calculated by the following

TG QRO FB0YgH (TLC) & & 1§08 S088adw oo 8§ 0WIWHN0

Options :

.« ERV+RV

, x TV+IRV

. v ERV+IRV+TV+RV

, » TV+IRV+ERV

Question Number : 62 Question Id : 492863702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following
List-1

(a) Afra

(b) Myocardium

(¢) Coronary sulcus

(d) Ventricle

808 T8 2EHEB0s
e -1

(@) oo

(b) Sydod gods Sodghuwo

(c) S PASB

(d) =588

The correct answer 1s

00 YONN BITW

Options :

@ b () (@
Lo ) () Gv) (@)
(@ (@ () (@
> % (1) @av) (@) (u)
@ (b () (@
s % (1) (@@ (@av) (i)
(@ G () (@
g% (v) (m) 1) (1)

Question Number : 63 Question Id : 492863703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

List-1I
(1) blood pumping chamber

(11) blood recerving chamber
(111) Heartwall
(1v) Atrio-ventricular groove

ade -1
(i) S5:9) Sodod &&g
(1) &8 88 $¥g
(iii) ot A
(Iv) AESBr-Joisogers md
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Correct: 1 Wrong: 0
Which of the following pathway converts ammonia into urea in ureotelic animals

chrdBr8O§ £YHod® o Jeoho T BIrAcir dbrdairm SrdBodd

Options :

Ornithine cycle

» B
i &FEDEM QOO0

TCAcycle
, »« TCASodho

Cori cycle

3 % §0 Secho

Nitrogen cycle
i S’z Seoddo

Question Number : 64 Question Id : 492863704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

In humans which one of the following pairs of ribs are called floating ribs

ArIPNES® & §od FRST é"é ‘ééq;,ée.n 2800 I
Options :
15t to 7% pairs

; % 13008 7Taden

8% 9% and 10® pairs

L % 8, 95009 103 2w

11™ and 12% pairs

s o 115 508050 125 238en
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Last five pairs

4 % DI S zden

Question Number : 65 Question Id : 492863705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

In a car accident. a person lost the speech and 1s unable to swallow the food. What could be
the reason

2.8 :;gg 578 PRIrE0S® SrddddrHdo Hdosn 8FFE50 okS %3*3 563&36&. S8
gl PR bW

Options :
Abducens motor nerve was damaged

@axf:‘ca% TosT& DEISE0

Vestibulo-cochlear nerves were damaged

3@3&5@*-@@»5 & BEAFI%0

Hypoglossal motor nerve was damaged

2 25 oS8 Tolard DEDSE0

Trochlear nerve was damaged

ORFFSTE BEIDPIE0

Question Number : 66 Question Id : 492863706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Match the following

List-1 List-1I
(a) Pituitary (1) Calcitonin
(b) Thyroid (11) Epmephrine
(c) Pineal (111) Vasopressin
(d) Adrenal (1v) Melatonm

808 TEI 2EJDOB0s

e -1 e - 11
(@) ool Kod (1) 5E'AS
(b) Foond Hod (1) DI P
(€) @S Kod (iil)) SFPRye
(d) o658 Hod (1Iv) e

The correct answer 1s
00 SO 2T

Options :

@ @® () @
L x (@) () () (@)
@ @® () @
>x (1) () @av) (@)
@ ® (© @
e @) (@) v ()
@ @® () @
4% (v) (u) @ (@)

Question Number : 67 Question Id : 492863707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0

In the following schematic diagram explains the mechanism of cell mediated immunity
where an Antigen Presenting Cell (APC) 1s mteracting with a T-helper cell (Ty). Identify
‘X" and Y 1s this diagram

$e0 Q08 &' ATEESH Bow0fodS dirogrorr) & (§od DHLdw JBBI08. SIS
28 a8 SH8E §ndn (APC) T-55Fch 878 (Ty) S, & Sbdwes® X Hookwo
Y o H8othdwn

Ty cell
Ty Seadw

Antigens TCR
|R8uI5Ten

Options :

. » X-MHC-L. Y-CD4
. » X-MHC-II: Y-CD4
. % X-MHC-II- Y-CDS8

. » X-MHC-I-Y-CD8

Question Number : 68 Question Id : 492863708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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In human male reproductive system, identify the sequence of passage of spermatozoa
a)  Seminiferous tubule

b) Vaseffentia

¢) Urethra

d)  Vasdeferens

e) Rate testis

f)  Epididymis

g)  Ejaculatory duct

h) Vagina of the female

SrSPV YA PEGEG SgIRS” DEFro RS J0TN Sorgrd) MHfowahn
a) DF\EE TIEe
b)) DHET9E0

) (SHESw

d DE>>E
e) 88 B S
) 08329

g) Hod ¥
h) @.3 B FEI0

« aob->c—>d—oe—>f-og—h

g doe—>c—-ob—osa-shofog

2.

o AFCHDITHA>EHC—HN

i8 Ie2g3ha—>brc—>d

Question Number : 69 Question Id : 492863709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (
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Aminocentesis helps to detect

Options :

Infertility

s’ao@“ésﬂé’m‘égaﬁw
5 % AIDS

Cervical cancer

Aop@cd Swpdgd 57500

3 &

Prenatal test to detect genetic disorders

- ﬁqﬁ FDIS” 2058 O 55080, 3 Agedo

Question Number : 70 Question Id : 492863710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following
List-1

(a) Down syndrome

(b) Edwards syndrome

(c) Patausyndrome

(d) Cri-du-chat syndrome

Bod T8 2EJ8[od
e -1

(@) &FS o'

() J&cE Do

(€) 3 Do’
(d) @-C&)-Q‘és ROo|&° 0

The correct answer is
00 LLONX 223720

Options :

@ @® (o
w1 () (v)
@ (® (o)
e G ) (i)
@ @® (o)
3 ¢ ()  @av) (1)

@ (@® (o)
,x @) () ()

(d)
(1)
(d)
(1)
(d)
(i1)

(d)
(1)

(1)
(11)

(iii)
(1v)

(1)
(11)

(111)
(iv)

List-1I
Trisomy of 13% chromosome

Partial delection of short arm of
chromosome 5

Trisomy of chromosome 21
Trisomy of 18% chromosome

N - 11
135 (8°30e 0 @é’ﬁ&v
33 FIrEI0S” AY) oS o

FSIL Jod

215 F3rs'SH B
185 E3ra'S BA®
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Question Number : 71 Question Id : 492863711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Match the following
List-1 List-1I
Blood Group Clump formation with
(a) AorAB (1) ant1 B serum
(b) BorAB (11) antiAand anti B serum
(¢c) AB (111) no clump is produced with either of
the (A or B) antibodies
d O (1Iv) antiAserum
8od TEJ SRS Wok
e -1 o - 11
8§ J%0 r‘b:ﬁb E8ad0
(a) A3z AB (1) oS08 Bddo
(b) BZz AB (11) o3r0d3 ASodosn odrodd Bdoen
(¢) AB (iii) A S Boovo Hadstod’ ﬁa@gééea 2ENEDFHL
d O (1v) oot Ao

The correct answer 1S

D0 LoD 2T

Options :

@ b (@ (@
Lx ) () () (v)
@ m () (@
o« (V) @) (D) @)

(@ () () (@
2w @) (1) () (i)
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) G @) @)

Question Number : 72 Question Id : 492863712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Match the following
List-1 List-1I
(a) Hyperkaratosis (1) Sex-influenced mheritance
(b) Hypertrichosis (11) Sex-limited mheritance
(c) Beardmman (111) Y-linked mheritance
(d) Baldness mn humans (1v) X-linked dominant inheritance

Bod B 2SBS0

rde -1 e - 11
(@) THE BEESTIR (1) Ooi-Perdd ©Ho38S
(b) o6 BERS (11) ©oX-H0E& BIS0IES
(€) HHWOS* Ko DK (i) Y-s5rof) es5038s
(d) Sr3YS° a8 (1v) XJFof) 2rdd ododolss

The correct answer 1s

00 O 23T

Options :

@ ® (@© (@

& () @v) () (@)

@ ® (@ @

2% (1) (v) (1) (1)

@ @® (@ (@

;% (v) () (i) (1)
cqllegedunias
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(@ @® () (@
Lo (V) Gi) G @)

Question Number : 73 Question Id : 492863713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which one of the following application is not related to DNA finger printing?

DNA 048 [2o&0f esdddareds® 58578 26?
Options :
Inheritance pattern of gene through generation

ool DAG Bor0S” wE 2adogy) SoEoBd JFPhw

Study of ontogeny

5 oF TTINN 1) @c‘.igoti:é:’ima

Establishing paternity/maternity more accurately

" ’be‘.‘e’g@g@l / aﬁs"éae.?’s&?l aai)aéorr‘ 30;80*333&3

-
Protection of Endamgered species
DeVw L o8

4 ® - <&

Question Number : 74 Question Id : 492863714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Experimental verification of chemical origin of life was successfully proved by

&

S 00N '03"&‘535?‘3 20770 (RATTR) 2RS0T VETV0WIBIE

Options :
Louis pasteur

J‘\
| % ww&gﬁ
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Charles Darvin

, & W00 TOg

J.B.S. Haldane
5 % JB.S. t’.ﬁ@ﬁ

Urey and Miller

o300 085 os
4 ~

Question Number : 75 Question Id : 492863715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Identify the sequence of evolution of Homosapiens
a)  Rama pithecus

b) Homo habilis

¢) Homo erectus

d) Australo pithecus

e) Homo neander thalensis
f)  Homo sapiens

TP D0ADY) IFRH D0 SO HEVEHR) 2o woB0
a) Orar DEED

b) &Fr FDeon

Q) &ar JoE5

d) @dgé" DEER

¢) FAr JarSEE TOYS

f) &% PO

Options :
, s a>b—oc—od

e—>f

W

>wa—>d—obocoeot
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Question Number : 76 Question Id : 492863716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
Match the following

Bod TE =28BES0s

List-1 List-1I

e -1 ade -11

Graph Type of phenotypic distribution
e STefoTol-aloV

(1) Directional selection

(a)

S3od0d S8e0

(b) (i1) Stabilizing selection

‘ﬁéédea S0

(¢) /\ (111) Disruptive selection
| QNG 200

(1v) Newly evolved population

(d)

FEm J0eardo TolS BTy

The correct answer 1s
V0 ORI BT

Options :

@ © © @
Lo @) i) ) G
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@ () () (@@
> » (V) (1) (i) (1)
@ () () (@
_x W) @) (@) (i)

@ b (© @
g x (W) (u) () (1)

Question Number : 77 Question Id : 492863717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

In MOET (Multiple Ovulation and Embryo Transfer) at what cell stage embryos are
recovered non-surgically and transferred to surrogate mother

2Tv¢ wod'dFo, Dok wBO FEBESS” Qe BIS* &) Doz IZNEGHBI Ag7do

A=

TGO DECOD ©HPEY KopFehBnSIE SrdHntd

-

Options :

1. ® 6-8
> R 8*16

; x Zygote (Soosng Do)

Question Number : 78 Question Id : 492863718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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With reference to ECG. match the following

Set-1

(a) Enlarged P wave

(b) Prolonged Q-T interval
(¢) Prolonged P-R mterval

(d) Shortened P-R interval

ECG & 30208008 80 T78EQ 2838Wod

e AL |

(@) BAS P dBorsm
(b) Q-T d8oko »6Ad
(¢) P-R&8oko 20A8

(d) P-R&8oko 85938

The correct answer 1s

DO LONN 1IN

Options :

(a)
. % (1)

(a)

> % (V)

(a)

z v (V)

(a)

(i)

(b)
(i1)
(b)
(1v)
(b)
(iv)
(b)
(11)

(c)
(V)

(c)
(iii)
(c)
(111)
(c)
(1)

(d)
(1v)
(d)
(1)
(d)
(11)
(d)

Set-1I
(1) Hyper calcimia
(11) Tachy cardia
(111) Brady cardia
(1v) Myocardial infraction
(v) Enlarged atria

arder 11
(1) 36 sy
(i) &résQair
(iii) @&s"gos
(Iv) HBrsgoRdS A FEES
(V) 0488 ¥g8en
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Question Number : 79 Question Id : 492863719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0

C peptide 1s mainly present in

CoRE BIS° Soopgorr erotanod

LE
Options :
Proimsulin

Insulin
> & 'Qr‘aJJ@\J

Cham A of msulin

_ 20000 B, Ao
3. % o J

Chain B of insulin

4 % 'EQKDJ@E S3008), B fFendo

Question Number : 80 Question Id : 492863720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : (
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Match the following
List-1

(a) Carcinoma

(b) Sarcoma

(c) Lymphoma
(d) Leukemua

Bod T8 2EHEBos

o2rdae -1

(@) 5O &
(b) &8&) &
(C) Ooddor

(d) eog8docss

The correct answer 1s

N0 YOS 2T

Options :

(a)

1.8 (iV)

(b)
(1)
(b)
(1)
(b)
(i1)
(b)
(i1)

(c)
(11)
(c)
(11)

(1)
(¢)
(1)

(d)
(111)
(d)
(1v)
(d)
(111)
(d)
(iv)

(1)
(111)
(iv)

(1)

(11)
(iii)
(1v)

List-1I
B and T Lymphocytes

Connective tissue
Bone marrow cells
Epithelial tissue

e - 11
B %805» T@oﬁ"g%
QoD reE 02N
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Section Id :

Section Number :
Section type :

Mandatory or Optional:
Number of Questions:
Number of Questions to be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Physics
49286319
3
Online
Mandatory
40
40
40
Yes
No

|
49286319
Yes

Question Number : 81 Question Id : 492863721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : 0

Match the Set-I with Set-II

Set-I

PLANCK
LIGO

Large Hadron Collider

The correct answer 1s

00 ©®owN LI

(1)

(i1)
(111)
(1v)

(1)
(11)
(ii1)

(1v)

Set-1I

Gravitational waves
Nuclear Fusion
Radiation from Big Bang

High Energy / Particle Physics

538 -11

ﬁod&e‘%‘ dEomren
S0 D0OSSD
A &“goﬁ OR ;’Jd{} D880

w8 I8 / 80 FEET0

@5

[ ]
gcollegedumaa
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Options :

@ ® @© @
, » (111) (1) (11) (1v)
@ ® © @
e () GiD) ) W)
@ ® © @
cx ) @) G ()
@ ® @© @
Lo (i) @ G ()

Question Number : 82 Question Id : 492863722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : (

Which of the following physical quantities set has difterent dimensional formulae :

808 RHcabS FT8E orHo JHPES' I IH W8 Fyren Ko T

Options :

Angular Impulse. Planks constant. Stefan's constant

§'B0%H HTEES50, Fof DoroESw, VIS NTToEHD
. ® oo o & ]

Energy density. Wave Intensity., Stress

-

i 3§ Jo B, S8o BB, P&od0

Radius of gyration. Angular displacement. Rydberg constant

FEAS Tsrdsn, Sdah PHEossn, BEBE HomoEED
2 8% 0 o - n Q

Velocity gradient. Acceleration. Gravitational Potential

S8 (Ddead, S, Kodds PBIcHS
4 & <
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Correct: 1 Wrong: 0

The equation of motion of a particle is given by x(7) =2 *+1* +4¢ . Then the average
velocity of the particle between the time r=3sto #=5s1s

o8 B0l K0S BDo8Emo X(1) =26 +1° +4t 1 aBsI. =35 Sodabo 1= 550 S0
es ooy DN IKo

Options :

. » 100 m/s
> » 110 m/s
3 % 90 m/s

« 140 m/s

Question Number : 84 Question Id : 492863724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Consider a ship traveling due east along the equator with velocity v,,. If southeastern wind
blows at an angle of *¢ "to the equator with velocity “v’. the wind velocity relative to the ship
v'and the angle between the equator and the wind direction in the reference frame fixed to
the ship are

ErS0gs Op Joad Srdnb¥S” a8 &% Vpdihod® Kkairsddyod. ardody Bk ‘@’ Seos”
B¥eo- Sy HES® BE5D0 V' Ios® ANSYW, TSHBorr HBIS5SKo V'A% o pLe,
TEE DAHoDS IYFBL0S” HIIBIRH Ko Fodn, SESM

Options :

> . _y( vsin
v’:Jva+V2 +2V,vCoso . sin [ ¢)

1. v
: VCos@
v’=Jv§+v2+2vvo sing . cos” ( J
> &
' 2wl 0 T 1
V =4/Vo+ V" —=2V,vCosg . s | —
3 ® ¥
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4 &

V' =vg+ V" +2V,vecosg . cos™ [

A%

’

Question Number : 85 Question Id : 492863725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

A cannon ball 1s fired from a building of height /» at the sea shore with a velocity v at an
angle of zupwards from the horizontal, targeting a ship at a horizontal distance of S from
the shore. as shown in the figure. If ‘g’ denotes the acceleration due to gravity. tan o

governed by the quadratic equation 1S

28 Dol 208 JJVEET A8 h IR FISow ol V IKos® §&
Bead0e® &80 00d S 88z Jirodd Sr8oes® Ko 38 KHoSr
g S0 o, tan o & HowoRodS S¢ Dao€Eer S0

" o% h 3
g —tana +—=—— & =1
| ® v § v
s h 5
g S _tan’ o ——tana + g,, =0
50 2v* S 2v°©
o 5 s N
g—ztan"a+tana+g——— 0
3 % 2V vt 5
o5 s h
Ltan o — tana+i———=0
4 & 7V- 2V S

-

el

2 VAFOSTVE O
R DOTH. ‘g oI
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Question Number : 86 Question Id : 492863726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A girl throws a stone horizontally from the roof of a house 12 m above the ground with a
speed of 15 m/s. Neglecting air resistance, the time it takes for the stone to reach the
ground 1S

28 rd8 P o8 12 M IKNSTHO R0 D EIY 0d §8233r0dSor w8 Trow
15 m/s $&8° JVBTH. MO ASFE0 BEHE B, & Trow Frd) BIFTAE Hy s"eo

Options :
| o 133 seC

> x 3.1 sec

s u 2.34 sec

4 x 4.10 sec

Question Number : 87 Question Id : 492863727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A rocket 1s about to launch upwards from its platform. The engine ejects gas at a rate of
2100 kg/s and the molecules are expelled at 50 kny/s. If the above condition 1s just sufficient
to make 1t rise upwards. the mass of the rocket 1s

(Assume g = 10 m/s?)

o8 08D Hod D HFS® JodErs o B8 QPO wHd. T dho@sn 2100 kg/s
3¢S’ MmO HoBosw weanPodd 50knm/s &° ot Sobds. & J2odS SHwo o8E W8
DHGETE DOFB, 0BE (Bdgod

(g = 10 m/s? @58°S5050)

Options :

12.6 x 10° kg

1_33

sa 155 % 107k

. % 9.8x 10°kg
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, » 105 10°kg

Question Number : 88 Question Id : 492863728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong : (

Three blocks A. B and C of masses 1. 2 and 3 kg. respectively are attached as shown 1n the

figure. The force of 30 N 1s applied to the block A so that the system as a whole moves to
the right with constant velocity v. There exists friction between the surface and the blocks.
Then the contact force exerted by block C on B 1s

Bob $L0d" Srddddomr 1,2 Sobckw 3 kg @dgorden fo A, BSoddin C el &30
EODTE. & Dodsn S553 8 BIS* 0¥ P& Ifo VS Edetsss Aed 83 30N
2eQ) PRrAcDTH. S8 B’ g wotwod. C a3y B a3y  §dh0B

oo

3kg

0N [ 4o 2kg

h

Options :
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Consider a 50 m high water falls. with water flowing at a rate of 1.2x10° kg/s. Using the
power generated due to this process. assuming 100% efficiency. the number of 60W bulbs
that can be light up 1s

50 m K Ko zoFdos® 1.2x10°0 kg/s Bend® I HITE08. & DHBEH S0 20w
0o ¢IRTNon JQ) 60W napoo 30A0USENM (RS G588 100% @88 K50)

Options :

o 9.8 %106

. = 5.88 x 108

. 9.8%10°

, « 1000

Question Number : 90 Question Id : 492863730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Assertion (A) : In analysing the problems of inelastic collisions. the law of conservation

of momentum and the law of conservation of mechanical energy are to be
employed

Reason (R):  Since the laws of conservation of momentum and mechanical energy are
fundamental laws, they should hold good in any situation.

QS0 (A): CRETLE VPITSINO VAV FOW DIROVBLYG |BSg3K defgefobion
DO ASro@f ¥§ A8 ArErod TS

580 (R): $3g3K AFgsg Sobow o8 ¥§ S¢S SrEered |FFAE
ArErodtody ©d ) SoSHINSIT wHSITow

Which of the following is true?
& 80 TAS® B DBgB0?
Options :
The (A) 1s correct but the (R) 1s incorrect

- (A) 2883088 57 (R) 20058 s
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Both (A) and (R) are correct and (R) 1s the correct explanation of the (A)
_— (A), (R) Bodr $85033, (R). (A) 8 585308 Dd8e0 23308

3. %

Both (A) and (R) are correct but the (R) 1s not the correct explanation of the (A)
(A), (R) Bodr $83033 57, (R). (A) § 38B0d Db8e 57650

Both (A) and (R) are incorrect
o A (R) Dol 203050 53

Question Number : 91 Question Id : 492863731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong :

A hardboiled egg (H) and a raw egg (R) are both spun on a flat table. They are stopped
momentarily and released immediately.

Which of the following statements 1s correct?

o8 SEEBYS KG Takhdy (H) 50050 S0b 5858 (R) 30808 o dHd0 v
BN, B TEY e ok BT
BoB TAS* Q DBEBH HORPSE?

Options :
(H) remains stationary whereas the (R) starts spinning again

™ (H) o™ eotnod. (R) Sode 88180 @FEodNod

(H) spins again whereas (R) comes to a stop

, % (H) o8 8sméod, (R) esadeod

Both (H) and (R) come to a stop
- (H) S08c5» (R) en Bodsr siFaown

Both (H) and (R) spin again
- (H) 558030 (R) en Bodsr Sode 888 o
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A turbine requires 10 sec to go from its idling speed of 1000 rev/min to 2000 rev/min. The
number of revolutions 1t makes in this period is close to

o8 QOB o0 A0 S5& 1000 revimin Soo& 2000 rev/min S48 FS@A8 10 sec en
D08, & Seod” b [odn EPhere dopg ST

Options :
; @ 230

> & 317
3 ® 287

4 % 1035

Question Number : 93 Question Id : 492863733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A spring stretches by a distance x when a mass m 1s hanging from it. If the spring undergoes
simple harmonic motion when a mass 2 m 1s attached to this spring. then the period of
motion 18

m ST w8 YN I dbdSYH, 6 PYoA x Srordd Fiebod. & Pyofisc 2 m

ol

BST3Q BOVIYE, © (R)oA SEETT )8 Iodo Boddod. vYB & VOIS BJYISW

Options :
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Question Number : 94 Question Id : 492863734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Consider a space ship launched into a circular orbit close to the earth's surface. If the

. | | -
orbital and escape velocities are given by vy = ,f}%{ and v, = 1’,};’% . the additional

velocity to be imparted to the space ship to overcome the gravitational pull 1s

Erd GH080rA8 SHET @G0B JHTTE S55S5°8 o FETED JoLDTH. T &5

_ [ 27M

08050 HeroHhd Imen SK1I YV, S00as0 V, = B Q502285D.

ke ek werd) eBidoSIBEE, & F5dh TEH as(s0ds ©ssdy Sio

Options :

Rl
2 (2

4.33\[5
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Elastic strain energy of 10 J 1s stored in a loaded copper rod of cross-sectional area

2x107'm” and length 0.2 m. The Young's modulus for copper is 125 GPa. The load on the
copper rod m kN 1s

0.2 m&dH Docio 2x107'm* SadgHis Irege 808, wdo IS w8 oh 3’ 10T o

%&@;5}5 &’Jéari‘a ¥8 JoNSIHBod. T coh Heeso 125 GPavons, ori 5%’}_} 20030 S
%o KN o&®
Options :

, u 16
> % 30
3 % 40

Question Number : 96 Question Id : 492863736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong :

An aeroplane with wing area 100 m? is travelling in a level flight at a speed of 800 km/h.
Using sensors placed on the surface. above and below the plane. it has been deduced
that the speed of air above is 10% higher than that of the below. Assuming density of air to
be 1.5 kg/m>. the mass of the plane is

100 mzaézf ITogolio a8 5SS 800 km/hS&&° §82 Sdroddormr moS”® HaSrsi08.
QIrIY 2 OG0 F08 GI8STrod” DTN FIATH0N Y » PSR MO
56 R 8od oS MmO SBET 10% 80),Sm edHin Bomd. md Fodd 1.5 kg/m?
T8, ISrSBS50°%
Options :

, = 80ton

> ¢ /4101
s » 100 ton

4 % 60 ton
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Question Number : 97 Question Id : 492863737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Two metal plates each of dimensions 20 cm » 50 cm and thickness 2 mm are soldered
together as shown 1n the figure. Let the first plate P; 1s at 100 °C and second plate P, 1s at

—10 °C. If the thermal conductivity of the two plates is K, = 44.6 W/mK and
K,, =554 W/mK. then the heat flow through the plates at the soldered junction 1s

20 cm x 50 cm HS8S5oreadnen 00 2 MM HodBN Ao ok S°TY) Sofod JLod’
Srd Ao Logdn TITHN. InE8 Do Py, 100 °C 3¢ Sodcsw S8 P), —-10°C o
3¢ wamon. Dok Hefo wHTrEdiines Ssm K, =44.6 WmK Soda¥wn

=

= 55.4 WK eon8, Lo8d0d 3¢ dode o RITroth &Rdn

bt

P,

_

N
N

ALANEERENAREANERNRNNNN

&
\\

§

Options :

| 136 kl/s
% 113K

95 kl/s

3_3

4 % 100 kJ/s
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Two identical shaped metallic spheres A and B made up of same material of mass ‘m’ and

‘4m’ are heated to attain a temperature T, and then they are placed n a container maintained
at temperature T, (T, <T,). The spheres are thermally insulated from each other. IfR 1s the
rate of change of temperature. then the ratio R, & Rz 1s

GBHg0°2 ‘M’ 0850 ‘4m’ © Ko Bodd &8 IFS 658500 O &8 éwgma RoES
FES” GoNTR. e 8T Dod w88 GRROEINN MACT2EIH. GPHSS'

&?dojéé.w R 9805808, PN R—"‘ DeNH
= | &,

Options :

Question Number : 99 Question Id : 492863739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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When 50 / of air at STP (Standard Temperature and Pressure) 1s compressed isothermally
to 10 /. the amount and direction of heat exchange of air 1s

| Use P, =100 kPaand In (0.2) =-1.61 ]

STP (588 &3PS bdaen) 58 Ko 50 1 mod 10 1 % s3rye Sobdssmn
BoBOASYH 28K SHIVDH HBIPSN B0 HFen

(P,.. = 100 kPa, In (0.2) = —1.61  &%08S050)

Options :
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8.05 kJ flows out
8.05 kJ a8 9555008

8.05 kJ flows 1
8.05 kJ &°Q8 (5355008

5 kI flows out

Question Number : 100 Question Id : 492863740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

A vessel of volume 2 litres contains mixture of N, and O, gas kept at temperature 27°C and
pressure 2.5 atm. If the total mass of the gas mixture 1s 6.0 gm. Calculate the individual
masses of N, and O, in the vessel. respectively a [Use R =8.314 J/mol K]

2 D68 o550 EFINSG) wEIES® N, 28000 O, Tainde oEdsn 27°C HH8c5
26550 2.5 atm Heod. Toin Fhodn @), Ingsn BHgoe 6.0 gm PSS’ N,
Do O, J&IE Eidgorden S8dm (R =28.314 JmolK m o)

®
!«J
=N

Q
)
QN

rQ
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A 20 cm long cylindrical column of radius = 2 c¢m 1s closed at one end and open at the

other. The fundamental mode of this column 1s resonant at frequency £ The amount of
water (mn/) that should be added to the column so that the fundamental mode of the new
column 1s resonant at frequency 2 f 1s

20 cm &g Sodoiw 2 cm FrgFrdoiio wf S5l Joghn wf I v HOE I
800 B, & JoPY FEWE 08 fFI:Yighn I vHoTEINS &Hd. & LogY
&8 88 2 [FI:)Trgds e dod® ¢odIBH08, & Hogrds BSOS A3 D8I dw
(ml)

Options :

107
20w

3 407

, « 160w

Question Number : 102 Question Id : 492863742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

A point source 1s located at a distance of 20 cm from the front surface of a symmetrical
biconvex lens made of glass (n=1.5). The lens 1s 5.0 cm thick and the curvature radius of
its surface 1s 5.0 cm. The distance at which the image of the source formed beyond the rear
surface of the lens 1s

n=1.5 3585355080 Ko mard® ScSrHias FAS8sv0rEd ELE Swodod 20 cm
80" o8 Dok 2380 B, & BLEY Joddw 5.0 cm Ddcsn do HES TG PS0
5.0 cm. 868 I8 Swo BISOIY Jod Grdod” PEDDL Z)dgéo.‘é)

Options :
| » 6.25cm

555 cm

22

s % 4.50 cm
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N

75 cm

Question Number : 103 Question Id : 492863743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The focal length of the objective and eyepiece of a compound microscope are 3 ¢cm and

11 cm. respectively. If an object is placed at a distance of 5 cm from the objective and the
least distance of distinct vision 1s 25 cm. the magnification produced by the microscope 1s

28 Sooing Srf8tNS”T SELEo oo wiiLEow Jrprgodoroy JBXM 3 cm
§

S M S5r80S” GoAIYE T NAGX

=

5008050 11 cmm &5, a8 S0HE SHELTD
&s

§0Q g0 25 cm o008, & SrHEO GE)8 Do B5YPHwm

Options :
| a 2.45
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A light source of wavelength 580 nm falls on a single slit of width 0.3 mm and gets diffracted.
For a screen kept at 2 m from the slit, the width of the central bright fringe 1s

580 mlle‘ﬁdoﬁgggoﬁm 570& (0.3 mmécﬁe.na He Dézﬁ@é’ﬁ D& DBES50 BodHIB. VOO
2 1m &80’ Godadsd B O Solah tgdioh HiE Ide

Options :
;. i 7.74 mm

> % 3.87 mm

; » 1.93 mm
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4 » 1546 mm

Question Number : 105 Question Id : 492863745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Four electric charges. each of charge + q. are placed at the four comers of a square of side

4 cms as shown 1n the figure. The direction of the force exerted by the charges at B, C and
DonAis

L8 HE = g sFdode T ISTITON JLod® WrdS o 4 cm ol
FHEPSEY T Sreoed® GodIdH. sdzen B, C H0cw D en «3d0 A
BeorBosn o &¥

e 4 cm =1
q q
4 em 4 cm
I_ q L q'
B 4 em C

Options :

an - ﬁ l with AB m anti clock wise direction
242 +

2 o
AB & 033355 &S Tan™ 22 -1 §%97Q) Bod

2\/§+1

242 +1

1l 242 -1 . : : . :
Tan™ { V2 ) with AB in clock wise direction

AB & 555 636" Tan'l(

22 -1
272 +1

] §%0Q) BS08
2. ¢
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A parallel plate capacitor with circular plate of radius ‘R” and distance ‘d "apart has a dielectric

medium of dielectric constant 5 upto a radius of — from the centre as shown in the figure.

i—

The capacitance of the resultant capacitor 1s
w8 263@5"6 DAT0SE Do SFabdHes® Hosen ‘R mg@ﬁgm 507 ‘d’ &r8os® Jdom

&S, HLod® SrbIdFor JdgdFEse 5 o FEE dirdiod HossoFodood

Fg@éo IOH QoTR. 08 BroLd 3FOB)
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Two copper wires A and B are measured to have same weight. If the wire A 1s 25 times
longer than wire B. the ratio of their electrical resistances (R,/Rg) 15

S0 T°h Slen AS08osn B o OO &8 wdhdo §0h Gamow. B 8180l A s
253t DEISE onSYH, T8 S IFGow 388 (Ry/Rp)

Options :
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The capacitors in the circuit shown below are charged by keeping the switch °S’ open.
The amount of charge passing through the segment AB of the wire when the switch 'S’

1s closed 1s

Bod BrDd Sodhod® IFvLEH M ST 80D &IFdn ToTRH. WL 'S Sord

&IV poddn AB Koom 000t eIFHn Jewd

o
15V
| |
II
2 uF 4 uF
| | | |
| | | ]
A — \-S %R
WAV WA
5Q 10 Q
Options :
, x OHC
o 1ZRC
o % 24pC
, v 30UC
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The magnetic induction of the field at point “0° if the current 7 * carrying wire has the shape
shown 1n the figure 1s
(The radius of the curved part of the wire 1s ‘R" and the linear parts are assumed very long)

SL0e® Srdd esvdoife 8hoT i’ e PIrdn PSrodSYPd 07 DoddHSE
QS H @b 08 (wEBbn
(S8sre afgriy Tgardo ‘R’ S0805n TPohH &K rmen Trer PEISD e 8odw)

Options :
ol

Question Number : 110 Question Id : 492863750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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An electron moves in a combined electric and magnetic field. the electric field being
1.5%10° V/m and magnetic field being 0.75 T. If the resultant force on the moving electron

1s to be zero. the minimum velocity of the electron in knv's 1s

28 JOEK0 H00H0E DB HoB8asn WA od FE st (HairBiyod. oA od o
0.75 T $080%0 deogd Fgo 1.5x10° V/im e eayon. So80s' Jogdom HBaso

POSVO0 W) VIVLE, B JOEFETWR GORIOVD EIQ ko km/s &

Options :
1. -
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Consider circular loop of radius ‘7’and “N * turns with current 7 ° flowing through it. The
loop 1s kept in a region with magnetic field of magnitude *B’ in a direction which makes an
angle ‘6 * with the loop (as shown in figure). The magnetic potential energy stored in the
system 1S

P gRrgsn 520050 N’ i fo o8 HEETE Gy oxo I’ AgE BTdro HSTE08.
&) oI 08 & S80S0 ‘B’ o @BF0S° HLINS' Srud Ao wins® ‘0°
§'e00 Bodw HFS® SoNTH. & HgHIS* Vg o vohIr) ol D82TS

b
' N such tumns
Noool i
Plane of loop
) ory 800
" > X
L/ - -
2 v
- ‘;‘ .
2 rd
L~ ,.I.{'
Options :
. = NIzr’B

ain _NI7r*Bcosé
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ZC10
il (S0))
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A conducting bar of length 50 cm rotates with a constant angular speed of 100 rad/sec
about a pivot at one end. If a uniform magnetic field of 0.1 T 1s directed perpendicular to
the plane of rotation. the emf induced between the ends of the bar is

50 cm FEHRo 28 TFTE SodHw T uf VIR Dok S8onm 100 rad/sec
R S0IEE PSedn Bowdod. W Sodd vondds’ 0.1 T echar,od §i@d)
500, & Soddy VS 3083 f;)cs:]ca: (008 .%5.20.

Options :
2 OV

o P 125V
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In the circuit shown below. the capacitor 1s charged by keeping the switches S, closed and
S, open to a potential difference of 10 V. The current in the circuit at any time. when S; 1s
open and S, 1s closed producing a potential difference of 5 V across the capacitor. 1s

Bo& Wl Sochodst, b S;Q Jord Ho8ckw b S, BOD af TFvLHK 10V
PEICHS FTA8 w3350 VAT, D& S0 30D 0% W S; A JardSHE
BXDLE Do 5V IPBRcHS Bho 2AS5HE, & S0’ JI5Te0oSEIT wod

1 uF

Question Number : 114 Question Id : 492863754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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A plane harmonic EM wave with plane polarization propagates in vacuum. If the electric
component of the wave has amplitude E;; and frequency i1s v. the rm.s value of
displacement current density 1s

é:v:sgoe.’i* 28 VB Lcﬁoéoégz_m’s waude EM d8oio @oﬁmﬁozﬁ:{p:@)& S508D ;’3{:30545‘
@oF) BoIID0& Ejy S08adn 3"(‘63:;)365;33: YV 2008980, Fﬁ{;éﬁ@?’o%’ :Jcisge‘i R o
LIS D0y

Options :

>, 2r €y VE,,
2rey VE,

- 21 e, VE,, sin(wr)

5 V2re, VE, sin(@rt — kx)

Question Number : 115 Question Id : 492863755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

A monochromatic 633 nm laser has a power output of 3 mW. The number of photons emitted
per second by 1t 1s

2§ 633 nm JE5E Bad wendS Fdggo 3 mW vond, B2k Hod K8 DS
I3 Pers Sowg

Options :

1 # 3 X 1015
¢ 9% 1083
s % 6 x 101

Lo 1x 100

Question Number : 116 Question Id : 492863756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The primary finding of the Rutherford’s experiment was that

ErB65§ HBrKo Bk, FENE ©IY G
Options :

alpha particles have a positive charge

@UD@ETE‘.D éaﬂﬁa‘&’h 5O/ Soiron

alpha particles have electrons

@U:)émﬁ@@" QO oo

alpha particles do not deflect from positive charges

SO ETrdTode dtoso 59

atoms have a nucleus with positive charge

, o JOSrYen FTBY Sosods BOA & oo

Question Number : 117 Question Id : 492863757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A 57600 W nuclear reactor has a nuclear fission rate of 1016 per second. If the energy
released per fission 1s 200 MeV. the efficiency of this reactor 1s

8 57600 W3So|58 8o5r56¢° Sod8 e B 1016/sec. ©8 IN8S' 200 MeV o
38 Do wond, & OS50 &5

Options :

1. ® ].6

2
2

> R

w
-
)
N

4 v 18

Question Number : 118 Question Id : 492863758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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The logic operation of the circuit given below 1s

Bo8 AR SO0 &8) T VI

Be

Options :

, » OR

NAND
> R

- % AND

, v NOR

Question Number : 119 Question Id : 492863759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The output ‘F’ of the logic circuit given below 1s

8ol aB@aS S8 S0uHd eensssn F

X ®

N®

Options :

| PRYL

[ ]
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Question Number : 120 Question Id : 492863760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong :

Assertion (A) : For good transmission from a linear antenna. we use high frequency signal.

Reason (R) : For good transmission. we need high power. The power radiated by a linear

"
: : V : ;
antenna 1s proportional to (7) where / 1s the length of the antenna. v 1s

the frequency and c 1s the speed of light

INS50 (A): BHob soBT H08 GE50 PFTIE ©HE FSYSgS0Ke DHSH TEESH
560 (R): &85 D08 ©bf 98 5°58:%. 3PS oS $008 Iendd 860558

' 2
I"
30850 (?) 5 S IrSoFSSns® Godosn. a8) & [ 938 soSa

DEY, v o308 DIYSgEn Sodckn ¢ 93 5708 58

Which of the following is true?
& (8od TAS* B BSgH?

Options :
The (A) 1s correct but the (R) 1s mcorrect

- (A) 585088 57, (R) S0 5760

Both (A) and (R) are correct and (R) 1s the correct explanation of the (A)

(A). (R) Bodr 585053, (R). (A) & 30608 560 2d308
> o

Both (A) and (R) are correct but the (R) 1s not the correct explanation of the (A)
- (A), (R) Sodr $830353 57, (R). (A) § S80S D58e 5°¢0
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Both (A) and (R) are incorrect
4 » (A). (R) Dok 20808 59

Chernistry

Section Id : 49286320
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 40
Number of Questions to be attempted: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1

Sub-Section Id: 49286320

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 492863761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which transition of the hydrogen spectrum has the same wave length as the Balmer transition
n, =4 to n; =2 of He™ spectrum?

o,
0y .
5
|
ol
‘“&'&
O
&n

o D88 ¢ duﬁa%u, He™ 38580e5°0 e
. ]

2.« 1 2
o x 0,=30,=4
o8 =30,

Question Number : 122 Question Id : 492863762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following

List-1 List-1I
(a) Rutherford’s scattering (1) Electron position and momentum
(b) Heisenberg’s uncertainty principle  (i1) Quantum mechanics
(¢) Schrodinger equation (111) Subsidiary quantum number
(d) Shape of the orbitals (1v) Nuclear model of atom

0B TBI 2SBHEHI%0

o -1 e - 11
(@) Sr&b3g HTFHeH0 (1) Qogs TS0 Jodoin GBg3HH0
(b) d0wd ©IHSsr JofHoswn (1) s*gobo oiro@8 773 S
(€) @>&oKE Ss8eadn (iil) 355008 s7obo dopg
(d) wdird) 88 (Iv) Bo|88 H8Sred Sdorae

The correct answer 1s

00 oD 2BaIv2

Options :

(a) ® () (@
Cx (i) G GV @)
(a) ® (© @
> x (@) i)  (@v) (i)
(a) ® (© @
z % (V) (11) (1) (111)
(a) (b) (c) (d)
s ) () i) (i)

Question Number : 123 Question Id : 492863763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
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Among the lanthanides (except Eu and Yb) the general trend of atomic radius 1s

ood3E0S* (Eu S08cin Yb 83)) $65rem0 gl >odm ©5)8
Options :
imcreases with atomic number

DEIre0 Sopgs” DHHDS0H

constant with atomic number

SIS0 Sopgs’ %360!? € 0008

decreases with atomic number

sl QESoren Doy SKHHS0H

fluctuates (increases and decreases) with atomic number

SESre Sopgd® Srodiod (DEHE08 8w BifHE0d)

Question Number : 124 Question Id : 492863764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For an element (M). IE, and IE, are 178 and 348 k cal mol™'. respectively. What is the
energy (k cal mol™) needed for the following reaction?

Mg — M(‘;’)+2e‘

28 Sorosy (M), IE, Sodosn IE, oo 58054 178 Sodain 348 k cal mol™.. §od S8gs0

sdond 4§ (k cal mol™ &) Jod?
: 2+ =
Mlg) w—p M(g) +2¢

Options :

‘. n —348

collegedunia
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4 *® +348

Question Number : 125 Question Id : 492863765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following species have the same bond order of 2?

808 oS’ JSrS wodENS 2 Kod ID?

N.. O, 0;,C,.N;

e

Question Number : 126 Question Id : 492863766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Identify the set of molecules whose central atom does NOT obey the octet rule

SoIE DI BRE AoHEr) FEoU @ SWE HGoiHw
Options :

CO,.SCL,. PF,
5

, o PF5,H,SO,,SF,

o PESE.SC),

. H;80,,00,,8C]

4

[ ]
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Question Number : 127 Question Id : 492863767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The CGS unit of coefficient of viscosity 1s

S sy CGS @Darwren
Options :

M,
| » Nsm

=
L gems

M

W e
% COX'S

)

oa EGET

Question Number : 128 Question Id : 492863768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

The volume of O, (in L) that can be produced at STP by heating 112 g of KCIO, is
approximately
(Molar mass of KClO, = 122.6 g mol™)

112 g o KCIO; & 36Tk ddoder 0,508585r00 (L od’) STPSE Sodedorr
(KCIO, 3rer6 ($5g0°8 = 122.6 g mol™)

Options :

% 201

o 101

4 402

Question Number : 129 Question Id : 492863769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0
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Calculate the volume (in L) of hydrogen gas liberated at 27°C and 760 mm pressure during
the treatment of 1.2 g of magnesium with excess hydrochloric acid

[Atomic mass of Mg =24]

1.2 g o Johfiyachod 88 TEE08 sinod” S6gmIoRdYL, 27°C Sodasn 760 mm
2bT0 5P, ddder TERS TNY HSH50ErR) (L o&°) B8 0thdn
Mg S585e0 o = 24]

Options :

o 204

74

Question Number : 130 Question Id : 492863770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Calculate the normality of a solution obtained on mixing 100 ml of EHgSO.q. 50 ml of

o 1 N .
§HNO3 and 25 ml of ?HC 1 solutions

— L

o , .
100 ml & EHESO"‘ 50 ml © %HNOE,, S080sn 25 ml © %HCI Ol BeodK 8BS

G0y T 08 8§ odod
Options :

; = 0.52N

> ¢ 0.29N

3 » 0.44N

4 ® 066N
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Question Number : 131 Question Id : 492863771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 10 L of an ideal gas at a pressure of 5 atm expands 1sothermally and reversibly to a final
volume of 100 L. the work done and heat absorbed in this process (in Lit-atm). respectively
are

5 atm HaSo 3¢ o8 waGHTENY 0L Hod 100 L & $30g e@dbab Fg8's
P800S’ 28RN, WerodS wldn (Lit-atm ©&®) S8

Options :

. W==115.15, q=115.15

> 8
.« W=11515.q=115.15
in W=-=115.15,q=-115.15

Question Number : 132 Question Id : 492863772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
In a mixture of 0.2 mole of N, and 0.6 mole of O,. 50% of N, reacts to give NO according

to eqtiatioall'Nz(g) + 0, = 2NO,, ata constant temperature when the reaction conducted

in a closed vessel. Calculate the ratio of the initial to final volume of gases

28 DoFH50s* 0.23rSo N,50050 0.6 3rSo O, eTaw. H6 SIS 5§ o8 5ards
FBS° DWFHB0S' 50% N, 808 HDogBmt0 5650 365508 NO S I6)8D08.

Ny + Oy = 2NO ) Tcinhe 80 508050 &8 HSBoSrwre AE B,0B0

Options :
- w 20

2 8 05

3 % 0.8

3 A0
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Question Number : 133 Question Id : 492863773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For the following reaction 2NH; ) = N, +3H,,,. 2 moles of NH, are mtroduced

into a one litre closed vessel. At equilibrium. if 1 mole of NH, was left. calculate the
approximate value of K_

§ob STgsv
-2NH3(;) = Ny +3Hyoy, 2 3rSeo NH, & o8 b Sordd E@a*8 Sobomrd.
DHeRs 58, 1 376 NH; 06deb. K Boog), I8 Jendd 8§ 0thdn

Options :

1 ® 07
. » 1.69
s ‘075

w1758

Question Number : 134 Question Id : 492863774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hydrogen peroxide reacts with lead sulphide to produce lead sulphate. Identify the other
product formed

TIFRS WoFE, TAITYES JIgIeh T& &'}Eﬁgé‘?éo A B0, GBS S5
Eodoradgdnds 8o

Options :

O,

l_iﬁ
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Question Number : 135 Question Id : 492863775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct statements from the following

a) Liand Mg form solid hydrogen carbonates

b) LiCland MgCl, are soluble in ethanol

¢) KO, is soluble in water and liberates O, and H,O,
808 JSpOS® HOFWID AD?

a) Lidodoin Mgeo 08 @2l s0h38ed 28 darow

b) LiClSo8csn MgCl, en 2ES°SS* Sdirbearon

¢) KO,d8e¢* §6%s08 $o8ak0 0, S0bakn H,0, o ddode Soskos

Options :
= ab

> % A.C

3M.b.c

, x D

Question Number : 136 Question Id : 492863776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

When borax 1s heated during borax bead test along with CoO (Cobalt Oxide) on a loop of
platinum (Pt) wire. it swells up and produces a blue colored bead. Which of the following
compounds is responsible for the blue color?

S0 I B08S°, Sofib CoO (g u8)8)8° FBSo (Pr) 8 I&BJVSHd ©b
ol w8 QOB Ko Fd W08, & DJHE T80 Ho ST0WSHw Bod TS’
A8 ?

Options :

. PUBOY,

_ o Co(BO,),
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_, Co(BO,),

NaBO

4 B 2

Question Number : 137 Question Id : 492863777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : (

Producer gas 1s a mixture of

g Mg BI Moo
Options :

1 ® =

Lo/ GO,

CO,H,

4.ﬁ

Question Number : 138 Question Id : 492863778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Near the south pole. the ozone layer depletion 1s mainly due to the formation of

B0 (0SB0 SE LIS DY SHhEeR, I8 (BR) Ao S E0Ew

Options :

Chlorine nitrate

§%0c JBE

1. ‘3" ™ -
SO,.S0; and H,SO,

_ & S0,, 80,5805 H,SO0,

Acrolein
3 w 0:) Lgs @ -;5

-

el

collegedunia:

India’s largest Student Review Platform



Peroxy acetyl nitrate
208 DTS IBE

4 8

Question Number : 139 Question Id : 492863779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following
List-1

R) ©C43000—2 3

(b) 3Na, | Fe(CN), | +2Fe, (SOy4), —

(c) Na,S+Pb(OCOCH;), —

(d) Nal+AgNO, —

7.4

8ob & 28

e -]

@ C+2Cu0—A—s

() 3Na,[Fe(CN),]+2Fe, (S0,), —

(¢) Na,S+Pb(OCOCH;) —

(d) Nal+AgNO; —

The correct answer 1s
00 Lo 1Tz

Options :

(a) (b)
, = (111) (1)

(a) (b)

oo ) (iv)

%Te Ao IR LL

(c)
(11)

(c)
(iii)

(d)
(1v)

(d)
(1)

(11)
(iii)
(1v)

(1)

(i1)
(111)
(iv)

List-1I

Yellow precipitate
Turns lime water milky
Black precipitate

Prussian blue

arde -1l

DX Foh 58550

25D VB Foort S8R0

Hend Sod eI8H50
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(a) (b) (¢) (d)
s = (1) (1v) (111) (11)
(a) (b) (c) (d)
in @ (i) (iii) (ii)

Question Number : 140 Question Id : 492863780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: (0

What 1s the major product (X) formed in the following reaction?

NHCOCHS;
| Conc. HNO; X
CnncﬁH2$04 2

BoB 65 Ak PES d& K0 (X) d8?

NHCOCH,
. ;GHNO;
@/ g HySO, ° =
A

NHCOCH,

Options :

NHCOCH,

0,N NO,

., ¢ OON

NHCOCH,
:: :No,
3 % -
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NHCOCH,

Question Number : 141 Question Id : 492863781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which one of the following compounds produces propan-2-one and ethanal on ozonolysis?

o JWTes® LEVE00 T0° FaS-2-6L8 05w ETS IGHWIE 28?
Options :

But-2-ene

20075 &5 - 2- 88

ﬁ

. 3-dimethylbut-2-ene
2. 3-B03Sargds-2-&

9

Pent-2-ene

. % D0S-2-48

2-Methylbut-2-ene
- 2-03Sargls-2-69

Question Number : 142 Question Id : 492863782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Due to Frenkel defects. the density of the 1onic solids

(2088 S'Fro o ¥oirdE NIVTTO FoBS

Options :
Increases

gcollegeduniaa

el



Decreases

S0
3 b 4 i

Does not change

. ¢ SPE

Depending on the composition it varies

o POWMLTR) QY WrHE0d

Question Number : 143 Question Id : 492863783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

1 litre of 0.1 M solution of Q was converted into Q electrochemically 1n acidic

NO, NH,
medmum by passing 1 A current for 960 seconds. The molar concentration of Q in the

NH,
solution i1s

s cirdkos® 1 dwdk 0.1 M Q G50k S SFransdsol ™, 1A

NO, NH,
Qogeiado 960 DBodrin Howod JBIGI0 Bolowd. (TS0’ Q&ng s

NH,

Options :

1 8 00048

. v 0.0017

4 % 0.048

Question Number : 144 Question Id : 492863784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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A complex represented by CoCl, - xNH, was dissolved in 1.0 kg water to make 0.1 m

solution. When this was mixed with stoichiometrically required amount of solid AgNO,.
28.66 g of AgCl was obtained. Assume 100% ionization of complex occurred and the co-
ordination number of Co (III) is six. K, of water is 1.86 K kg mol~!. What is the value of

A T.ofthe solution upon adding the AgNO,? (Molecular weight of AgCl s 143.3 gmol™)

CoCl,-xNH; o %03 1.0 kg 38&° §6n00 0.1 m (@5eQ) SSrHBFE. &
E5e8 Pows8Ar JWHsor S AgNO, S EdDSHE, 28.66 g © AgCl D6B0b.
o3z 100% o800 BodIBY 8w Co (III) ?@233‘5 Sopg s ©J
eS8 %050, A8 Kdeos 1.86 K kg mol . AgNO, & 80089k sl AT dend
Qo&8? (AgCl3rers $hgoe8 143.3 g mol™)

Options :

| 0.558°C

, % 0.186°C

sy 03720

oy '09C

Question Number : 145 Question Id : 492863785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What will happen if a copper spoon 1s used to stir a solution of aluminium nitrate?

vorgaddo JBE @) 5756 BoT s’ SOVIYH d 2BHS0H?
Options :
The spoon will be coated with aluminium

il BoT D @Orgadoo Fé IS0

Al-Cualloy will be formed

Al-Cu Do@ESoe' o A8ykosr08
> R
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There 1s no reaction

-555 280088
3

There will be an explosion

2.8 S”J:-‘Z’Qiséu 238000080

Question Number : 146 Question Id : 492863786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following graphs does not represent a first order reaction?

BB MROS® I8 G Blros bz Hrdowieh?

[A] In [A] rate 1 %

Options :

; » a.b.d
5 &G d
. x 0,c.d

4% a.b

Question Number : 147 Question Id : 492863787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following

List-1

Oxidation of SO,(g) to SO,(g)

Combination of N,(g) and H,(g) to form NH,(g)
Hydrolysis of sucrose to form glucose and fructose
Hydrogenation of vegetable oils to form vegetable ghee

(a)
(b)
(¢)
(d)

BB B 2EHEEHB0
ardar-1

(@) SO,). SO,() & e&Esmba

(b) Ny(&) So0csn Hy(a") © Swand So NH, (o) 28ydot
(c)

(d)

S 2odihe Bod KrF'E Do PEEw JL
S5)8 Dowodd Sore WE RIS So S Sowosd
Sowg A8yl

The correct answer 1s

00 ORI T2

Options :
(a) (b) (c) (d)
;= (11) V) (iv) (ii)
(a) (b) (c) (d)
5w W (1i1) (i) (iv)
(a) (b) (c) (d)
3 ¢ (i1) (111) (1v) (1)

(1)
(1)
(111)
(1v)
(V)

(1)

(i1)
(iii)
(1v)

(V)

collegedunia
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List-1I
Ni

Pt
Fe

HL S0,
Pd

De-11
N1
Pt
Fe

H,S0,

Pd



(a) (b) (¢) (d)
Lo (D) (iv) W) (ii)

Question Number : 148 Question Id : 492863788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Which of the following contains highest purity Fe?

Bob TES* w8gBE H00ES o Fe ¢odd 28?

Haematite

NG &

w
&

Wrought iron

i B[S QS0B0

Question Number : 149 Question Id : 492863789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
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Which of the following statements are correct?

a)  All elements of group 16 form their hydrides

b)  The bond angles of H O and H,S are 104°28"and 92°30°, respectively
¢) DrySO,1sareducing agent

d)  Pyrosulphuric acid is H,S,0,

E0d DS5EOS* D HOFEY?

a) Y 16 'Y o) Scovwr T8 T@Eol YT 00

b) H,0 50w H,S 0&® wog8mren Sdm 104°28" 5odasn 92°30°
C) && 50,28 §o8dn 5°E8dw

d & éw&g&g ed00 H,S,0,

Options :

1 a.b.d
> R c.d

; % a.¢c.d

n Gl

Question Number : 150 Question Id : 492863790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Observe the following statements
Statement (A) : XeF, readily reacts with water to form Xe(g). HF(aq) and O,
Statement (B) : XeF  has trigonal bipyramidal structure

$od JAeod HOIOOTLIN

D58ea (A): XeF, Dozor 88" S8y Xe (57) HF (2e) Sodcdw 0, o
AT

D582 (B): XeFﬁéﬁﬁées BRENES Ao7Eoe) 8O &otnod

The correct answer 1s
00 DOoND 220
Options :
Both (A) and (B) are not correct
" (A) 088w (B) en Tod J0Bodd 57
L

(A) 15 correct but (B) 1s not correct
. (A)Begie 50 (B) Hoghin s

(A) 1s not correct but (B) 1s correct

- (A) 58530886 5760 570 (B) 85058

Both (A) and (B) are correct

. (A) S:0050 (B) e Bodd 305
4,
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Identify the species/products formed during the reaction of KMnO, with iodide under
weakly alkaline conditions

OIS 58 dirdgos 2o KMNO, & o&radd g obsd S8y arden / Boiradgesd
KoBot 53

Options :
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MnO,. KL H,0
1. % = =

_ MnO,.MnO,.L,
2 - -

_ » MnO, KOH.L,

, v MnO,. KOH. I0;

Question Number : 152 Question Id : 492863792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the correct set for [Ni(CN),]*

[Ni(CN),J> 8 Soz080D 38508 S8 Ko8owbw

Options :
Tetrahedral. sp’. paramagnetic

o 3 A np 4 .
, WEEDID0, SP°. HT @I, 08

1
Square planar. dsp”. diamagnetic

| Sde SEddo, dsp deiredii o
Square planar. dsp?. paramagnetic

ol dHode IS do, dsp?. QRTVOTY 08
Tetrahedral. sp*. diamagnetic

- SEdnPobo, sp’. doirecid,od
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Nylon 6 1s prepared from

IS 6% B H0d ESrHBYE

Options :
gcollegedumaa
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Carprolactone
S FerE
1. % i
Hexamethylene diamine and adipic acid

o TED6ES BT Sodasw IELE s

Caprolactam

a5 S (@rorE o

Glycine and aminocaproic acid

i AR 500800 St Erons o
in & -
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Which of the following statements are correct about the inversion of sucrose?
a) Invertase catalyzes this reaction
b)  There 1s a change in sign of optical rotation

¢) Glucose and mannose are formed in the reaction
d) Glucose and Fructose are formed 1n the reaction

Bod TES* JF'E IS DHBNEKH Howood JHBS DSEen ID?
Q) & S AIBVE w@)¥ W8

b) (s Fhod HE Srssed

C) & SES* KrFE D0cH SrS*E ASykoeron

d) & SES* KrE'E Sobakn PEE DGyderow

Options :

| ab.c

> % a,cd

3 a.b.d
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b:c.d

4 ®
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The structure of the antisepetic chloroxylenol 1s

¥4

5685856 oSrod D8 QTE 8500
Options :
OH
H;C” i ~CH,;
i o Cl
OH
H,C
CH;
> #* o |
Cl
H;C” i “CH;
3 % OH
Cl CH;
HO CH,
4 e
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Which of the following statements is/are correct for the reaction?

(—)—Z—methyl-l-butanof conc. HCVA | (+)-1-—chloro—2-methyl butane

a) It proceeds with inversion of configuration
b) It proceeds with retention of configuration
¢) Reactant and product differ with respect to rotation of plane polarized light

Bod DEgd @) JSTea(en) HOG0HD?

O2-235- l-arsos’s _msHCVA | (+)-1-86-2-2036 wrgBs

a) & GO SN ATZI0 GO 2N

b) & Jdg ogrEd Jargdo GO e8RS0

€) (BoSrasslon Soboin & ¥ ddde W 5708 [Ferr8 Soofod IPBFaw

Options :

lﬁa.c

2 w a.b

R

Question Number : 157 Question Id : 492863797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The number of resonance structures possible for anisole 1s

QT EE Eﬁ"dﬁgc‘&)dﬁag BEIV) ATET O Doy

Options :

1.32
233

3 % 6

4,v'5

collegedunia

—
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Correct : 1 Wrong : 0

In the reaction given below 1f B 1s 4-hydroxy-4-methyl pentan-2-one. identify the structures

of Aand C

o8 2SS $U3e° B 0088 4@ 4-038 woBs-2-68, wond A Hdcsn C ol

w8owod
" Ba(OH) " "
7 _H?O 7
Options :
A C
)j)\ Me\ ﬁ
C=CH-C-CH
CHy” CH, il 3
1. ¢ .
A C
i CHE\ ﬁ
Ry ..
H,C CH, - CH, - € - CH;
> % H;C
A C
O
)H\ Me._ I
C=CH-C -CH,;
H,C~ NCH, _— 3
3 %8
A C
. H O
/T\H Mﬂ\CH (_l l!:I CH
H,C \CHE Me/ | '
i HO
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The reaction of l-methylcyclohex—l-ene with O, followed by the reaction with Zn-H,0O

gives X. Compound X on warming with [Acr (NH,;) / OH produces’ Y. What are X and Y?

1-2:85 ﬁgo_'sf’f"és‘gcj 1-838% 0,8 ¥ 2 008 Zn-H,0 & &85 2ddm X Aob.
X sdngssode | Ag(NH;), | /OH 36T Y I8yds08. X. Y eo A2
Options
b, 3 X
= Cfe
1 b OH O
X X
O
X .
CHO
o2 ¢ O
X Y

CHO 7 -
3 &

v
<o )OI\/\/\/\
OH HO

OH

Oy -
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Correct : 1 Wrong : 0

Which of the following reactants gives meta nitroderivative. on nitration with conc. HNO,

and conc. H,SO,?

Bod Sosradsteos® ¢ HNO, Hodsn ¢ H,SO, 8 IBJPAS 2805m Sotra @’

ﬁégézlé&}:& *aid:t}é& RTAY

Options :

Acetanilide

|k DEIBE

Phenol
> % WTO

Aniline
- IO

Chlorobenzene

§5Bodx
4.8 =
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